Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Punjab, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimun M.)/Area d		•		e arranged by plicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC									
					SC CC-1									
					SC PH									
					ST									
					ST CC-1					Estimated	Estimated			
					ST PH					working	fund required			
			Regular /	MS+HSD	ОВС	CC / DC /	Frontage	Depth	Area	capital requiremen	for	Draw of Lots /		
			Rural	in KLs	OBC CC-1	CFS	ouge	Бери.	/ cu	t for	developme nt of	Bidding		
					OBC PH	1				operation of RO	infrastructu			
					OPEN						re at RO			
					OPEN CC-									
					OPEN CC-	1								
					2									
	FROM FATTLI CARLI CILIDIAN CUONIVITO CARRA RIAID ON NIL 3				OPEN PH							D f		
1	FROM FATEH GARH CHURIAN CHOWK TO SADDA PIND ON NH-3 ON RIGHT HAND SIDE	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
2	WITH IN 5 KM OF NH54/NH354 JUNCTION ON NH 54 TOWARDS PATHANKOT	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3	WITH IN 5 KM OF NH54/NH354 JUNCTION ON NH 54 TOWARDS AMRITSAR	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
4	WITH IN 5 KM OF NH54/NH354 JUNCTION ON NH 354 TOWARDS KALANAUR	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
5	FROM TARN TARAN TO NAUSHERA BYEPASS ON NH 54 ON RIGHT HAND SIDE	TARN TARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
6	BETWEEN KM STONE 18 AND KM STONE 20 ON NH54 (ON LEFT HAND SIDE) WHILE GOING FROM AMRITSAR TO PATHANKOT	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
7	DHARIWAL BYE PASS ON NH 54 WHILE GOING FROM AMRITSAR TO PATHANKOT ON LEFT HAND SIDE	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
8	DHARIWAL BYE PASS ON NH 54 WHILE GOING FROM PATHANKOT TO AMRITSAR ON LEFT HAND SIDE	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

9	WITHIN 4 KM KALANAUR MANDI ON NH-354 TOWARDS DERA BABA NANAK	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
10	WITHIN 3 KM OF CHEEMA PUBLIC SCHOOL KISHAN KOT ON NH 503 A DISTRICT GURDASPUR	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
11	NH-44 ON LEFT HAND SIDE FROM KM STONE 371 TO 373, DISTRICT - PATHANKOT	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
12	FROM KM STONE 340 TO KM STONE 347 ON NH 44 ON RIGHT HAND SIDE (WHILE GOING FROM MADHOPUR TO JALANDHAR)	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
13	ON NH703 , FROM HPCL RETAIL OUTLET - CHAUDHARY FILLING STATION TO MANSA-SIRSA BORDER	MANSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	NH-54, BETWEEN KM STONE NO 212 TO 216, AMRITSAR- BHATINDA ROAD, ON LEFT HAND SIDE	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	ON NH 354E, DABWALI -ABOHAR ROAD, FROM KM STONE 38 TO KM STONE 50, ON LEFT HAND SIDE	FAZILKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	VILLAGE-BISHAN PURA,ON SH-16, TEHSIL-ABOHAR	FAZILKA	Regular	172	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	ON NH7 FROM KM STONE 150 TO KM STONE 153 TOWARDS CHANDIGARH, ON LEFT HAND SIDE	BATHINDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	ON NH-9, FROM NH354E(ABOHAR JUNCTION) TOWARDS DABWALI	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	VILLAGE SITTO GUNNO, ON SH 16	FAZILKA	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	ON NH 7, MALOUT-ABOHAR ROAD, WITHIN 3KM FROM SDM OFFICE, MALOUT TOWARDS ABOHAR, ON RIGHT HAND SIDE	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 59 TO KM STONE 63, ON RIGHT HAND SIDE	FAZILKA	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
22	JAITU WITHIN MUNICIPAL LIMITS	FARIDKOT	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
23	NH-54, BETWEEN KM STONE NO 184 TO 190, AMRITSAR- BHATINDA ROAD, ON RIGHT HAND SIDE	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	ON CIRCULAR ROAD FARIDKOT WITHIN MUNICIPAL LIMTS	FARIDKOT	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
25	ON NH-54, BETWEEN KM STONE NO 218 TO 224, AMRITSAR- BHATINDA ROAD, ON LEFT HAND SIDE	FARIDKOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	ABOHAR CITY (WITHIN MUNICIPAL LIMTS), ON ABOHAR- MALOUT ROAD (OLD NH-7)	FAZILKA	Regular	310	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
27	ON MULTANIA ROAD, WITHIN MUNCIPAL LIMITS OF BATHINDA	BATHINDA	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
28	VILLAGE- BASIAN (BAHAWAL BASI), ON NH7, TEHSIL-ABOHAR	FAZILKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	ON NH754 (BATHINDA-MUKTSAR ROAD), WITHIN 2 KM ON EITHER SIDE OF GURDWARA TARAN TARAN SAHIB, MUKTSAR	SRI MUKTSAR SAHIB	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	ON NH 354, FIROZPUR (WITHIN MUNICIPAL LIMITS)	FIROZPUR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
31	WITHIN MUNICIPAL LIMITS OF GIDDERBAHA TEHSIL, NOT ON NATIONAL HIGHWAY	SRI MUKTSAR SAHIB	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

32	ON NH 703, WITHIN MUNICIPAL LIMITS - SARDULGARH	MANSA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
33	ON LINK ROAD FROM GOVERNMENT BRIJINDRA COLLEGE TOWARDS VILLAGE CHAHAL, FARIDKOT WITHIN MUNICIPAL LIMTS	FARIDKOT	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
34	NH-54, BETWEEN KM STONE NO 205 TO 212, AMRITSAR- BHATINDA ROAD, ON RIGHT HAND SIDE	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	GURUHARSAHAI WITHIN MUNICIPAL LIMIT	FIROZPUR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
36	ON NH7 FROM KM STONE 147 TO KM STONE 149, ON RIGHT HAND SIDE	BATHINDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
37	ON NH254, WITHIN 3 KMS FROM GURUKUL INTERNATIONAL SCHOOL, BHAI RUPA TOWARDS SALABATPURA, EITHER SIDE	BATHINDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
38	ON NH-54, FROM FAUJI CHOWK TO KANAHIYA CHOWK, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	160	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
39	ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 2 TO KM STONE 5, ON RIGHT HAND SIDE	FIROZPUR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	ON NH 254, WITHIN 5KMS FROM HPCL RO M/S KAMAL FS TOWARDS HMEL REFINERY	BATHINDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 25 TO KM STONE 32, ON LEFT HAND SIDE	FAZILKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	ON NH-7 FROM KM STONE NO. 129 TO KM STONE NO. 136, (ON LEFT HAND SIDE WHILE GOING FROM BATHINDA TO MALOUT)	BATHINDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
43	ON BIBIWALA ROAD (BETWEEN FAUJI CHOWK & BIBIWALA CHOWK) BATHINDA WITHIN MUNICIPAL LIMTS	BATHINDA	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
44	ON NH-7, FROM BIBIWALA CHOWK TO KANAHIYA CHOWK , NOT UNDER FLYOVER, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
45	ON NH-148B, FROM UNDERPASS TO JASSI CHOWK (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
46	ON NH703B, BETWEEN MAKHU TEHSIL MAKHU AND PEER MOHAMMAD, TEHSIL MAKHU	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
47	ON 100 FEET ROAD, BETWEEN BIBIWALA ROAD INTERSECTION AND GHORA CHOWK, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
48	ON SH20, JALALABAD - FAZILKA ROAD, FROM KM STONE 63 TO KM STONE 68, ON RIGHT HAND SIDE	FAZILKA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
49	FAZILKA WITHIN MUNICIPAL LIMTS, NOT ON NH 7	FAZILKA	Regular	121	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
50	ON FAZILKA-MALOUT ROAD, FAZILKA WITHIN MUNICIPAL LIMIT	FAZILKA	Regular	121	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
51	ON POWER HOUSE ROAD, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
52	VILLAGE DHER ON ANANDPUR SAHIB TO NANGAL ROAD, ON NH-503	RUPNAGAR	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
53	FROM CHARHERI TO CHAKLAN ON RIGHT HAND SIDE ON NH 205 (OLD NH 21)	RUPNAGAR	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
54	VILLAGE PAPRALA ON JALANDHAR BYE PASS ROAD ON NH 344 A	RUPNAGAR	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
55	VILLAGE SHAMPURA ON RUPNAGAR BYEPASS ROAD ON NH 344 A	RUPNAGAR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

56	BUNGA SAHIB ON NH 205	RUPNAGAR	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
57	VILLAGE SOLKHIAN ON LEFT HAND SIDE OF NH 205 (OLD NH 21)	RUPNAGAR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	VILLAGE GAHAUR ON NH95	LUDHIANA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
59	CHARAN TOLL TO HAMBRAN ROAD, ON NEW NH (CONNECTING NH1 WITH NH95), ON LEFT HAND SIDE	LUDHIANA	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
60	IN BETWEEN JAGRAON TO CHAUKIMAN, ON LEFT HAND SIDE ON NH 95	LUDHIANA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
61	SECTOR -74, MOHALI	SAS NAGAR	Regular	205	SC	CFS	30	35	1050	0	0	Draw of Lots	0	3
62	IN BETWEEN MULLANPUR TO LUDHIANA ON LEFT HAND SIDE ON NH 95	LUDHIANA	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
63	IN BETWEEN NURPUR TO HARI SINGH NALWA CHOWK, ON RIGHT HAND SIDE ON SH 13	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
64	WITHIN 2 KMS OF DIPLAST CHOWK, MOHALI WITHIN MUNICIPAL LIMITS	SAS NAGAR	Regular	205	SC	CFS	30	35	1050	0	0	Draw of Lots	0	3
65	ON MALERKOTLA ROAD, RAIKOT WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
66	IN BETWEEN VERKA MILK PLANT TO MULLANPUR, ON RIGHT HAND SIDE ON FEROZPUR ROAD, LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
67	ON 200 FEET ROAD, ON LEFT HAND SIDE FROM FEROZPUR ROAD TO PHULLANWAL CHOWK, LUDHIANA (WITHIN MUNICIPAL LIMITS)	LUDHIANA	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
68	ON 200 FEET ROAD, ON LEFT HAND SIDE FROM JAIN MANDIR CHOWK TO PHULLANWAL CHOWK, LUDHIANA (WITHIN MUNICIPAL LIMITS)	LUDHIANA	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
69	ON OLD GT ROAD, ON LEFT HAND SIDE FROM VISHVAKARMA CHOWK TO DHOLEWAL CHOWK , LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
70	ON OLD GT ROAD, ON RIGHT HAND SIDE FROM VISHVAKARMA CHOWK TO DHOLEWAL CHOWK , LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
71	ON PAKHOWAL ROAD, ON LEFT HAND SIDE FROM PHULLANWAL CHOWK TO CANAL ROAD(SOUTHERN BYPASS) , LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
72	SECTOR 92 MOHALI WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
73	ON PAKHOWL ROAD, IN BETWEEN BHAI BALA CHOWK TO CANAL ROAD (SOUTHERN BYPASS), LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
74	SOHANA GURUDWARA TO DC OFFICE (SAS NAGAR) JUNCTION, WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	210	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
75	ON RAJGURU NAGAR ROAD, FROM 200FT ROAD TOWARDS ISHMEET SINGH INSTITUTE, LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
76	WITHIN 2 KMS ON LEFT HAND SIDE FROM AARTI STEELS TOWARDS DHANDARI KALAN ON FOCAL POINT ROAD	LUDHIANA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

77	ON LEFT HAND SIDE FROM SAMRALA CHOWK TO BASTI JODHEWAL CHOWK , WITHIN MUNICIPAL LIMIT OF LUDHIANA	LUDHIANA	Regular	220	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
78	ON RIGHT HAND SIDE FROM INTERSECTION OF LADOWAL BYPASS AND NH 44 TO NDRF CAMP ON NH 5	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
79	ON LEFT HAND SIDE FROM NEELON BRIDGE TO VILLAGE LADHRAN, ON NH-5	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
80	WITHIN 5 KMS ON LEFT HAND SIDE FROM LADOWAL TOLL TOWARDS JALANDHAR BYPASS CHOWK, ON LEFT HAND SIDE ON NH 44	LUDHIANA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
81	FROM BASTI JODHEWAL CHOWK TOWARDS MATTEWARA ON LUDHIANA RAHON ROAD ,WITHIN MUNICIPAL LIMITS OF LUDHIANA	LUDHIANA	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
82	WITHIN 5 KMS FROM SAMRALA TOWARS MACHIWARA ON SAMRALA MACHIWARA ROAD	LUDHIANA	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
83	IN BETWEEN DHANDARI TO SAHNEWAL ON LEFT HAND SIDE OF NH44 (LUDHIANA TO DELHI)	LUDHIANA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
84	IN BETWEEN MANJHI SAHIB AND DORAHA, ON LEFT HAND SIDE OF NH44 (DELHI TO LUDHIANA)	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
85	IN BETWEEN KHANNA TO DORAHA ON RIGHT HAND SIDE OF NH44 (DELHI TO LUDHIANA)	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
86	WITHIN 2 KM OF SHIV CHOWK, SHERPUR BYEPASS ON RIGHT HAND SIDE FROM LUDHIANA TO DELHI ON NH-44	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
87	VEERHAKIKAT RAI CHOWK TO KHANNA ON LEFT HAND SIDE OF NH44, WITHIN MUNICIPAL LIMIT OF KHANNA	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
88	IN BETWEEN SHIV CHOWK AND SAMRALA CHOWK ON NH44,LUDHIANA MUNCIPAL LIMIT	LUDHIANA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
89	ON SH 12A ON RIGHT HAND SIDE FROM AMLOH TO BHADSON	LUDHIANA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
90	FROM MANDIGOBINDGARH TO AMLOH, ON SH-12 WITHIN MUNCIPAL LIMIT OF MANDIGOBINDGARH	LUDHIANA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
91	DERABASSI TO BARWALA ROAD - SH 09 (OUTSIDE DERABASSI MUNICIPAL LIMITS)	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
92	VILLAGE CHANALON ON SISWAN TO KURALI ROAD, WITHIN MUNICIPAL LIMITS OF KURALI	SAS NAGAR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
93	ON RIGHT HAND SIDE FROM KM STONE NO. 13 TO 19, (BHAGOMAJRA TO GHARUAN) ON NH 5 (OLD NH 95)	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
94	ON LEFT HAND SIDE FROM TANGORI TO SANETA ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
95	ON RIGHT HAND SIDE FROM TANGORI TO SANETA ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
96	KAPURTHALA WITHIN MUNICIPAL LIMIT, ON KAPURTHALA TO SUBHANPUR ROAD (ON LEFT HAND SIDE WHILE GOING FROM KAPURTHALA TO SUBHANPUR)	KAPURTHALA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
97	BETWEEN KM STONE 24 TO 47 ON NH 703 (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO MOGA)	JALANDHAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
98	BETWEEN KM STONE 41 TO 51 ON NH 344A (ON LEFT HAND SIDE WHILE GOING FROM PHAGWARA TO CHANDIGARH)	SHAHID BHAGAT SINGH NAGAR	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

99	ON GURU TEG BAHADUR ROAD, BETWEEN SHRI GURU RAVIDASS CHOWK AND RAINBOW ROAD WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
100	VILLAGE KOTKALAN ON JALANDHAR CANTT BYPASS ROAD ON RIGHT HAND SIDE (ON RIGHT HAND SIDE WHILE GOING TOWARDS JAMSHER) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
101	BETWEEN KM STONE 56 TO 36 ON NH 344A (ON LEFT HAND SIDE WHILE GOING FROM CHANDIGARH TO PHAGWARA)	SHAHID BHAGAT SINGH NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
102	BETWEEN SHAHEED BABA DEEP SINGH JI CHOWK AND JCT MAIN GATE ON NH03 (ON LEFT HAND SIDE WHILE GOING FROM HOSHIARPUR TO CHINTPURNI)	HOSHIARPUR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
103	BETWEEN KM STONE 6 TO 17 NH 703 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO SHAHKOT)	JALANDHAR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
104	NAWANSHAHR (WITHIN MUNICIPAL LIMIT), ON LANGROYA TO NAWANSHAHR ROAD (ON RIGHT HAND SIDE WHILE GOING FROM LANGROYA TO NAWANSHAHR)	SHAHID BHAGAT SINGH NAGAR	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
105	FROM ADAMPUR TO KATHAR ON NH03 (ON LEFT HAND SIDE WHILE GOING FROM ADAMPUR TO KATHAR)	JALANDHAR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
106	TRANSPORT NAGAR, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
107	ON NH03 FROM SHAHEED BANTA SINGH SANGHWAL CHOWK TOWARDS AMRITSAR - ON LEFT HAND SIDE (WHILE GOING FROM JALANDHAR TO AMRITSAR) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
108	DOABA CHOWK TO SHAHEED BANTA SINGH SANGHWAL CHOWK ON RIGHT HAND SIDE WHILE GOING TOWARDS SHAHEED BANTA SINGH SANGHWAL CHOWK, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
109	PHILLAUR (WITHIN MUNICIPAL LIMIT)	JALANDHAR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
110	BETWEEN LAMBAPIND CHOWK AND KISHANPURA CHOWK, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
111	BETWEEN KM STONE 12 TO 16 ON NH703A (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO KAPURTHALA)	KAPURTHALA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
112	BETWEEN KM STONE 41 TO 46 ON NH703A (EITHER SIDE)	KAPURTHALA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
113	PHAGWARA (WITHIN MUNICIPAL LIMIT), ON PHAGWARA TO BANGA ROAD	KAPURTHALA	Regular	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
114	BETWEEN KM STONE 25 TO 32 ON NH703A (ON RIGHT HAND SIDE WHILE GOING FROM KAPURTHALA TO DALLA)	KAPURTHALA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
115	BETWEEN KM STONE 0 TO 7 ON NH344A (ON LEFT HAND SIDE WHILE GOING TOWARDS BANGA)	KAPURTHALA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
116	BETWEEN KM STONE 20 TO 22 ON NABHA-BHADSON ROAD SH12A.	PATIALA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
117	SANGRUR CITY (BETWEEN NANKIANA CHOWK & YADVINDRA DREAM HOTEL ON PATIALA BYEPASS)	SANGRUR	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
118	ON SH 11 BETWEEN CAMBRIDGE INTERNATIONAL SCHOOL TO GAHIR AGRO INDUSTRIES (SANGRUR SUNAM LINK ROAD)	SANGRUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

119	SANGRUR CITY (BETWEEN SHAHEED BHAGAT SINGH CHOWK & BARNALA CROSSING)	SANGRUR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
120	SANGRUR CITY (BETWEEN BUS STAND CHOWK & NANKIANA CHOWK VIA BSNL PARK)	SANGRUR	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
121	SANGRUR CITY (BETWEEN NANKIANA CHOWK & HOTEL PUNIA TOWER ON PATIALA BYEPASS)	SANGRUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
122	ON NH-7 BETWEEN KM STONE NO. 249 TO 256 ON RHS (ON RIGHT HAND SIDE) (WHILE GOING FROM BARNALA TO PATIALA)	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
123	BETWEEN KM STONE NO 34 TO 40 ON SH 11	MALERKOTLA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
124	BETWEEN DELHI GATE CHOWK TO SATTA CHOWK (WITHIN MUNICIPAL LIMITS OF MALERKOTLA)	MALERKOTLA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
125	BETWEEN KM STONE NO. 142 TO 146 (ON ROAD GOING FROM MOONAK TO PATRAN I.E. SH 10)	SANGRUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
126	BETWEEN KM STONE NO. 214 TO 217 RHS (ON RIGHT HAND SIDE) FROM BARNALA TO SANGRUR ON NH7	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
127	BETWEEN BAHADURGARH FORT TO DHARERI JATTAN TOLL PLAZA ON NH-7 RHS (ON RIGHT HAND SIDE), WHILE MOVING FROM PATIALA TO RAJPURA	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
128	BETWEEN KM STONE 129 TO 132 ON SH10 (PATRAN TO MOONAK)	PATIALA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
129	BETWEEN KM STONE NO. 269 TO 272 ON NH7 ON RHS (ON RIGHT HAND SIDE) (WHILE GOING FROM SANGRUR TO PATIALA)	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
130	BETWEEN KM STONE NO. 262 TO 265 ON NH7 ON RHS (ON RIGHT HAND SIDE) (WHILE GOING FROM SANGRUR TO PATIALA)	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
131	BETWEEN KM STONE NO. 87 TO 92 (SH10) ON SAMANA- PATIALA ROAD.	PATIALA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
132	BETWEEN KM STONE NO. 597 TO 601 ON NH-44 RHS (ON RIGHT HAND SIDE) (WHILE MOVING FROM RAJPURA TO SIRHIND SIDE)	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
133	AMRITSAR CITY (WITHIN MUNICIPAL LIMITS) ON BHAGAT KABIR MARG FROM FATEGARH CHRURIAN ROAD TO MAJITHA ROAD	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
134	FROM FATEH GARH CHURIAN CHOWK TO SADDA PIND ON NH-3 ON LEFT HAND SIDE	AMRITSAR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
135	FROM BETWEEN VALMIKI CHOWK TO NH3 ON RAM TIRATH ROAD	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
136	CANAL COLONY AMRITSAR CITY WITHIN MUNICIPAL LIMITS	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
137	INDIA GATE TO GUMANPURA AMRITSAR CITY WITHIN MUNCIPAL LIMITS	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
138	AMRITSAR CITY WITHIN MUNICIPAL LIMITS ON PUTILGARH CHOWK TO KHANDWALA CHOWK	AMRITSAR	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
139	GREEN AVENUE AMRITSAR CITY WITHIN MUNICIPAL LIMITS	AMRITSAR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
140	CIRCULAR ROAD PATHANKOT WITHIN MUNICIPAL LIMITS	PATHANKOT	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
141	KOT KHALSA, AMRITSAR CITY WITHIN MUNCIPAL LIMITS	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
142	BETWEEN KM STONE 17-25 ON NH3 (EITHER SIDE) WHILE GOING FROM ATTARI TO AMRISTAR	AMRITSAR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4

143	SUJANPUR CITY (WITHIN MUNICIPAL LIMITS)	PATHANKOT	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
144	PATHANKOT CITY WITHIN MUNICIPAL LIMITS ON COLLEGE ROAD	PATHANKOT	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
145	FROM GOLDEN GATE TO VERKA CHOWK ON LEFT HAND SIDE ON NH-3	AMRITSAR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
146	EITHER SIDE OF NH-154 FROM JALANDHAR FLY OVER BYE PASS TO MAMOON CHOWK	PATHANKOT	Regular	150	OPEN CC 1	DC	35	45	1575	32	95	Draw of Lots	15	5
147	AMRITSAR CITY WITHIN MUNICIPAL LIMITS FROM CELEBRATION MALL TO VERKA CHOWK ON LEFT HAND SIDE	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
148	RAYYA TO KHILCHIAN ON NH-3 ON LEFT HAND SIDE	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
149	FROM KM STONE 350 TO KM STONE 353 ON NH 44 ON RIGHT HAND SIDE (WHILE GOING FROM MADHOPUR TO JALANDHAR)	PATHANKOT	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
150	BETWEEN KM STONE 422 TO 424 FROM AMRITSAR TO JALLANDHAR (ON LEFT HAND SIDE) ON NH3	AMRITSAR	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
151	AMRITSAR CITY WITHIN MUNICIPAL LIMITS ON RAM TALAI TO GHEE MANDI	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
152	FROM DELHI PUBLIC SCHOOL , AMRITSAR TO GOLDEN GATE ON LEFT HAND SIDE ON NH3	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
153	AMRITSAR CITY ON CIRCULAR ROAD, FROM RATTAN SINGH CHOWK TO KACHEHRI CHOWK	AMRITSAR	Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
154	GURDASPUR CITY FROM RAVIDAS CHOWK TO MIRPUR MOAR WITHIN MUNCIPAL LIMITS ON JAIL ROAD	GURDASPUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
155	GURDASPUR CITY BETWEEN HANUMAN CHOWK TO PANCHAYAT BHAWAN ON CIVIL LINE ROAD	GURDASPUR	Regular	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
156	FROM SUTLEJ RIVER BRIDGE TO KOT BUDHA ROAD ON NH-354	TARN TARAN	Regular	150	OBC CC 1	DC	35	45	1575	32	95	Draw of Lots	15	4
157	FROM KM STONE 124 TO 129 ON NH -54, ON RIGHT HAND SIDE AMRITSAR- HARIKE ROAD	TARN TARAN	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
158	FROM KM STONE 132 TO 134 ON NH -54, ON LEFT HAND SIDE AMRITSAR - HARIKE ROAD	TARN TARAN	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
159	ON HARIKE BYEPASS ON RIGHT HAND SIDE ON NH 54 WHILE GOING FROM TARN TARAN TO BHATINDA	TARN TARAN	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
160	ON HARIKE BYEPASS ON LEFT HAND SIDE ON NH 54 WHILE GOING FROM TARN TARAN TO BHATINDA	TARN TARAN	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
161	BETWEEN KM STONE 47 AND KM STONE 49 ON NH54 (ON LEFT HAND SIDE) WHILE GOING FROM AMRITSAR TO PATHANKOT	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
162	WITH IN 4 KM OF NH354B/NH354 JUNCTION ON NH 354 TOWARDS KALANAUR	GURDASPUR	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
163	WITH IN 4 KM OF NH354/NH503D JUNCTION ON NH 354 TOWARDS GURDASPUR	GURDASPUR	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
164	BATALA CITY Within Municipal Limits ON AMRITSAR - JALANDHAR BYPASS, OLD NH 15	GURDASPUR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
165	AMRITSAR CITY (WITHIN MUNICIPAL LIMITS) FROM CHATTIWIND GATE TO CHATTIWIND CANAL ON AMRITSAR TARN TARAN ROAD	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
166	NH-44 ON RIGHT HAND SIDE FROM KM STONE 364 TO 368, DISTRICT PATHANKOT	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

167	GURU KI WADALI ON CHHEHARTA TO SRI SANN SAHIB ROAD (WITHIN MUNICIPAL LIMITS)	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
168	NH-54 ON LEFT HAND SIDE FROM KM STONE 6 TO 9, DISTRICT PATHANKOT	PATHANKOT	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
169	NH-54 ON RIGHT HAND SIDE FROM KM STONE 6 TO 9, DISTRICT PATHANKOT	PATHANKOT	Regular	150	OPEN CC 1	DC	35	45	1575	32	95	Draw of Lots	15	5
170	NH-54 ON RIGHT HAND SIDE FROM KM STONE 14 TO 17, DISTRICT PATHANKOT	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
171	VILLAGE- LADPALWAN, ON LEFT HAND SIDE WHILE GOING FROM PATHANKOT TO GURDASPUR ON NH-54	PATHANKOT	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
172	RANJIT AVENUE AMRITSAR CITY WITHIN MUNICIPAL LIMITS	AMRITSAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
173	BETWEEN SHEHNAI MARRIAGE PALACE SHERGARH GATE TO GURU RAVIDAS MANDIR GATE GULZARPUR ALIAS THARWA ON KHANAURI KAITHAL ROAD (NH-152A)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
174	BETWEEN KM STONE NO. 195 TO 198 ON NH 7 RHS (ON RIGHT HAND SIDE) (SANGRUR TO BARNALA SIDE)	BARNALA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
175	ON NH-7 FROM KM STONE NO. 123 TO KM STONE NO. 127, (ON LEFT HAND SIDE WHILE GOING FROM BATHINDA TO MALOUT), WITHIN MUNCIPAL LIMITS OF BATHINDA	BATHINDA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
176	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 1 TO KM STONE 10, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	СС	35	35	1225	32	12	Bidding	30	5
177	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 10 TO KM STONE 15, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	СС	35	35	1225	32	12	Bidding	30	5
178	ABOHAR CITY WITHIN MUNICIPAL LIMTS ON NH 354E	FAZILKA	Regular	150	ОВС	DC	30	30	900	32	95	Draw of Lots	15	4
179	ON NH 07,INDIA PAKISTAN SULEMANKI BORDER TO MALOUT ROAD, FROM KM STONE 05 TO KM STONE 15, ON LEFT HAND SIDE	FAZILKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
180	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 15 TO KM STONE 20, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
181	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 20 TO KM STONE 25, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	СС	35	35	1225	32	12	Bidding	30	5
182	ON NH 148 B , FROM TALWANDI VILLAGE TO VILLAGE DATEWAS	MANSA	Regular	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
183	ON NH-54, BATHINDA - FARIDKOT ROAD, FROM KM STONE NO 271 TO KM STONE 273, ON RIGHT HAND SIDE WHILE GOING FROM BATHINDA TO FARIDKOT	BATHINDA	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
184	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 30 TO KM STONE 33, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	СС	35	35	1225	32	12	Bidding	30	5
185	VILLAGE GOBINDGARH, TEHSIL - ABOHAR, ON NH 7	FAZILKA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
186	ON NH 354E, DABWALI -ABOHAR ROAD, FROM KM STONE 25 TO KM STONE 35, ON LEFT HAND SIDE	FAZILKA	Regular	292	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
187	ON NH 07,INDIA PAKISTAN SULEMANKI BORDER TO MALOUT ROAD, FROM KM STONE 30 TO KM STONE 40,ON RIGHT HAND SIDE	FAZILKA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
188	ON MUKTSAR-BALLAMGARH ROAD, WITHIN 2KMS OF MANDI BOARD OFFICE, MUKTSAR TOWARDS BALLAMGARH, SRI MUKTSAR SAHIB WITHIN MUNICIPAL LIMITS	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	ON NH 07,INDIA PAKISTAN SULEMANKI BORDER TO MALOUT											Draw of		
189	ROAD, FROM KM STONE 20 TO KM STONE 30,0N LEFT HAND SIDE	FAZILKA	Regular	150	OPEN	DC	35	35	1225	32	95	Lots	15	5
190	ON THE PROPOSED BYPASS STRETCH CONNECTING INTERSECTION OF NH-54 WITH INTERSECTION OF BHARATMALA ROAD PROJECT ON DABWALI BYPASS MALOT ROAD	BATHINDA	Regular	450	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
191	ON GILL PATTI - SIVIAN ROAD, FROM INTERSECTION AT NH 54 TO RAILWAY CROSSING, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
.92	ON SH-14, FROM KM STONE 8 TO KM STONE 10, ON LEFT HAND SIDE ABOHAR TO RAJPURA	FAZILKA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
193	ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON LEFT HAND SIDE)	BATHINDA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
194	VILLAGE BALLUANA, ON NH 7 DISTT. FAZILKA	FAZILKA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
195	ON NH 703 ,FROM KM STONE 201 TO KM STONE 205	MANSA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
196	ON NH 07,INDIA PAKISTAN SULEMANKI BORDER TO MALOUT ROAD, FROM KM STONE 13 TO KM STONE 25,ON RIGHT HAND SIDE	FAZILKA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
L97	ON CIRCULAR ROAD, FROM MULTANI GATE TO MALLANWALA ROAD JUNCTION (MAKHU GATE) VIA KASURI GATE, FEROZEPUR WITHIN MUNICIPAL LIMIT	FIROZPUR	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
198	ON SH-16A (BHUCHO NATHANA ROAD), FROM BHAGTA BHAIKA CHOWK TO NATHANA, ON RIGHT HAND SIDE	BATHINDA	Regular	172	OPEN	СС	35	35	1225	32	12	Bidding	30	5
199	FAZILKA (WITHIN MUNICIPAL LIMTS) ON ABOHAR-FAZILKA ROAD(NH-7)	FAZILKA	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
200	ON OLD NH-64E AND NEW NH-54, FROM KM STONE 11 TO KM STONE 16(AS PER OLD NH-64E)ON RIGHT HAND SIDE	BATHINDA	Regular	260	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
201	ON NH 5 (OLD NH 95), MOGA TO FEROZEPUR ROAD, FROM KM STONE 181 TO KM STONE 187, ON RIGHT HAND SIDE	FIROZPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
202	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 25 TO KM STONE 30, ON RIGHT HAND SIDE	FAZILKA	Regular	518	OPEN	СС	35	35	1225	32	12	Bidding	30	5
203	VILLAGE RAJPURA, ON SH 16 DISTT FAZILKA	FAZILKA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
204	ON NH 7, ABOHAR BYPASS ROAD, BETWEEN INTERSECTION OF ABOHAR- FAZILKA ROAD TO INTERSECTION OF ABOHAR-MALOT ROAD	FAZILKA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
205	ON GURUKUL ROAD, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
206	ON NH-703A, UPTO 3 KM FROM JUNCTION OF NH-54 & NH- 703A IN MAKHU TOWARDS FEROZEPUR ON MAKHU - FEROZEPUR ROAD	FIROZPUR	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
207	ON NH7, WITHIN 5 KMS FROM BHARU CHOWK, GIDDERBAHA TOWARDS BATHINDA , ON EITHER SIDE	SRI MUKTSAR SAHIB	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
208	ON OLD NH-64E AND NEW NH-54, I.E. BATHINDA TO DABWALI ROAD, FROM KM STONE 34 TO KM STONE 39 (AS PER OLD NH- 64E)	BATHINDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
.09	ON FEROZPUR-FAZILKA ROAD(SH-20) FROM KM STONE 65 TO KM STONE 71, ON LEFT HAND SIDE	FAZILKA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

210	ON SH-17, FROM GURUKASHI UNIVERSITY TO MANSA ROAD JUNCTION(BOTH SIDES)	BATHINDA	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
211	ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNCIPAL LIMITS OF BATHINDA (ON RIGHT HAND SIDE WHILE GOING TOWARD MALOUT ROAD)	BATHINDA	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
212	ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) (ON RIGHT HAND SIDE)	BATHINDA	Regular	240	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
213	ON NH-54, FROM FAUZI CHOWK TO ITI FLYOVER CHOWK(TILL START OF FLYOVER), BATHINDA WITHIN MUNICIPAL LIMITS, ON LEFT HAND SIDE	BATHINDA	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
214	ON NH-54, BATHINDA - FARIDKOT ROAD, FROM KM STONE NO 285 TO 287,BATHINDA WITHIN MUNICIPAL LIMITS,(ON RIGHT HAND SIDE WHILE GOING FROM BATHINDA TO FARIDKOT)	BATHINDA	Regular	220	OPEN	СС	30	30	900	32	12	Bidding	30	5
215	ON SH 17, FROM VILLAGE KAHNEWALA TO VILLAGE SARDULEWALA	MANSA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
216	ON NH-254, WITHIN 5 KMS FROM HMEL TOWNSHIP TOWARDS NH 54 T JUNCION	BATHINDA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
217	ON OLD NH-64E AND NEW NH-54, BETWEEN KM STONE 20 TO 25 (AS PER OLD NH-64E)	BATHINDA	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
218	ON NH7, WITHIN 4 KM FROM HOTEL SILVER PALM TOWARDS BATHINDA ON LEFT HAND SIDE	SRI MUKTSAR SAHIB	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
219	ON NH 148 B , FROM RELIANCE RETAIL OUTLET RIL BARETA TO VILLAGE KHUDAL KALAN	MANSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
220	ON NH 07,INDIA PAKISTAN SULEMANKI BORDER TO MALOUT ROAD, FROM KM STONE 15 TO KM STONE 20, ON LEFT HAND SIDE	FAZILKA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
221	ON NH-254, TALWANDI SABO TO RAMAN ROAD, FROM IOCL RO MAHAVIR FILLING STATION TO RAMSARA	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
222	ON OLD NH-64E AND NEW NH-54, FROM KM STONE 11 TO KM STONE 16 ON LEFT HAND SIDE(AS PER OLD NH-64E)	BATHINDA	Regular	260	OPEN	СС	35	35	1225	32	12	Bidding	30	5
223	ZIRA WITHIN MUNICIPAL LIMTS, NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY	FIROZPUR	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
224	VILLAGE BIKHI ON NH148 B	MANSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
225	ON OLD NH-64E AND NEW NH-54, BETWEEN KM STONE 25 TO 28 (AS PER OLD NH-64E)	BATHINDA	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
226	ON NH 754, BATHINDA - MUKTSAR ROAD, FROM KM STONE 1 TO KM STONE 16, EITHER SIDE	BATHINDA	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
227	ON NH105B, VILLAGE LAMBWALI, TEHSIL JAITU	FARIDKOT	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
228	ON NH148 B , FROM BUDHLADA TO VILLAGE TALWANDI	MANSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
229	ON NH-148B, FROM JASSI CHOWK TO INTERSECTION OF SH-17 AND NH-148B	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
230	ON NH-54, FROM ITI FLYOVER TO IOCL RO M/S AVIATOR FILLING STATION AT JODHPUR ROMANA, BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	210	OPEN	СС	30	30	900	32	12	Bidding	30	5
231	ON SH-14, WITHIN 4 KM FROM KM STONE NO 18 TOWARDS VILLAGE RAJPURA	FAZILKA	Regular	376	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4

ON ZIRA-FEROZEPUR ROAD (SH-20), FROM KM STONE 24 TO KM STONE 28, ON RIGHT HAND SIDE	FIROZPUR	Regular	225	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE)	BATHINDA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNCIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE WHILE GOING TOWARD MALOUT ROAD)	BATHINDA	Regular	150	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
ON NH703 FROM MANSA KENCHIYAN TO ISHAR KAUR NURSING COLLEGE, ON LEFT HAND SIDE	MANSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE	BATHINDA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
ON OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33(AS PER OLD NH-64E)	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO M/S DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES).	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
ON NH9, WITHIN 5 KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON LEFT HAND SIDE	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE	FAZILKA	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
ON NH354, WITHIN 5KM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FEROZPUR	FARIDKOT	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
ON NH-07, WITHIN 4 KMS FROM GURU RAM DAS COLLEGE OF PHARMACY, JANDWALA TOWARDS BATHINDA, EITHER SIDE	SRI MUKTSAR SAHIB	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
ON NH-354, WITHIN 4 KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MALLANWALA ON FEROZEPUR - ARIFKE ROAD (NH-354)	FIROZPUR	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
VILLAGE KHEOWALI, ON NH-09, MALOUT-DABWALI ROAD	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON SH20, WITHIN MUNICIPAL LIMITS ZIRA	FIROZPUR	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
ON NH 703A, MAKHU TO JALANDHAR ROAD, IN BETWEEN MAKHU AND BPCL RETAIL OUTLET M/S RANA FILLING STATION	FIROZPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
ON NH 5 (OLD NH 95), MOGA TO FEROZEPUR ROAD, FROM KM STONE 171 TO KM STONE 178, ON LEFT HAND SIDE	FIROZPUR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
ON NH-54, BETWEEN KM STONE NO 168 TO 173, AMRITSAR- BHATINDA ROAD, ON LEFT HAND SIDE	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
KOTKAPURA WITHIN MUNICIPAL LIMIT, NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY	FARIDKOT	Regular	100	OPEN	СС	20	20	400	32	12	Bidding	30	5
ON SH16, BETWEEN BPCL RETAIL OUTLET LUCKY FILLING STATION ADHOC AND IOCL RETAIL OUTLET PUNJGRAIN MOTORS	FARIDKOT	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE WHILE GOING TOWARD MALOUT ROAD) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH703 FROM MANSA KENCHIYAN TO ISHAR KAUR NURSING COLLEGE, ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO M/S DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES). ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO M/S DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES). ON NH-304, WITHIN 5 KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON LEFT HAND SIDE ON NH-354, WITHIN 5 KM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FEROZPUR ON NH-07, WITHIN 4 KMS FROM GURU RAM DAS COLLEGE OF PHARMACY, JANDWALA TOWARDS BATHINDA, EITHER SIDE ON NH-354, WITHIN 4 KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MALLANWALA ON FEROZEPUR - ARIFKE ROAD (NH-354) VILLAGE KHEOWALI, ON NH-09, MALOUT-DABWALI ROAD ON SH20, WITHIN MUNICIPAL LIMITS ZIRA ON NH 703A, MAKHU TO JALANDHAR ROAD, IN BETWEEN MAKHU AND BPCL RETAIL OUTLET M/S RANA FILLING STATION ON NH 5 (OLD NH 95), MOGA TO FEROZEPUR ROAD, FROM KM STONE 171 TO KM STONE 178, ON LEFT HAND SIDE ON NH-54, BETWEEN KM STONE NO 168 TO 173, AMRITSAR-BHATINDA ROAD, ON LEFT HAND SIDE ON SH16, BETWEEN BPCL RETAIL OUTLET LUCKY FILLING STATION ADHOCAND IOCL RETAIL OUTLET PUNJGRAIN	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNCIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM MITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM MITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM MANSA KENCHIYAN TO ISHAR KAUR NURSING COLLEGE, ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON NH-64E AND NEW NH-54, FROM KM STONE 50 TO 33 (BATHINDA B	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE) WHILE GOING TOWARD MALOUT ROAD) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON ON DIAM-64E AND MEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO M/S DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES). ON NH9, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON LEFT HAND SIDE ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE ON NH354, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FEROZPUR ON NH-37, WITHIN 4 KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MALLANWALA ON FEROZEPUR - FARIBKE ROAD (NH-354) VILLAGE KHEOWALI, ON NH-09, MALOUT-DABWALI ROAD ON SH20, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGular ON SH20, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGular ON NH-36, BETWEEN KM STONE 158 ROAD, FROM KM STONE 171 TO KM STONE 178, ON LEFT HAND SIDE ON NH-37, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGular ON NH-54, BETWEEN MS TOOR FEROZEPUR ROAD, FROM KM STONE 171 TO KM STONE 178, ON LEFT HAND SIDE ON NH-54, BETWEEN BM STONE NO 168 T	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN S KMS FROM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE) WHILE GOING TOWARD MALOUT ROAD) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) AND NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITI FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD NH-64E, ON LEFT HAND SIDE ON NH-354, KIALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO M/S DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES). ON NH-36, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON LEFT HAND SIDE ON SHEOZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE ON NH-364, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS FROZEPUR FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE ON NH-374, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS FROZEPUR FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE ON NH-374, WITHIN S KM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FROZEPUR ON NH-374, WITHIN S KM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FROZEPUR ON NH-374, WITHIN S KM FROM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FROZEPUR ON NH-374, WITHIN S KM FROM FROM FROZEPUR (OUTSIDE MUNICIPAL LIMITS) ON SH20, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGUIAT 150 ON SH20, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGUIAT 150 ON NH-374, WITHIN SUM FROM FROM FROZEPUR ARIFKE ROAD (NH-354) VILLAGE KHEOWALI, ON NH-09, MALOUT-DABWALI ROAD ON NH-374, BETWEEN BROM FROM FROM FROM FROM FROM FROM FROM F	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO ON NH-254, WITHIN 5 KMS FROM GURU RAVIDASS CHOWK TO ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE WHILE GOING TOWARD MALOUT ROAD) ON NH-148B, FROM ITH EVOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITH SILVOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM ITH SILVOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-1703 FROM MANSA KENCHIYAN TO ISHAR KAUR NURSING COLLEGE, ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 16 TO 20 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD NH-64E AND NEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON LEFT HAND SIDE ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO LOCL RO M/S DASHMESH FILLING STATION AT SHEKHPUPA, 8 (DOTT SIDES). ON NH-9, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON LEFT HAND SIDE ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 56 TO KM STONE 61, ON LEFT HAND SIDE ON NH-354, WITHIN S KM FROM DANEWALA ROUND ABOUT TOWARDS DABWALI, ON NH-09, MALOUT-DABWALI ROAD ON NH-354, WITHIN S KM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS FEROZPUR ON NH-354, WITHIN 4 KMS FROM GURU RAM DAS COLLEGE OF PHARMACY, JANDWALA TOWARDS BATHINDA, EITHER SIDE MUNICIPAL LIMITS) TOWARDS MALLANWALA ON FEROZEPUR- FARIBKOT REGular ON NH-364, WITHIN A KMS FROM GURU RAM DAS COLLEGE OF PHARMACY, JANDWALA TOWARDS MALLANWALA ON FEROZEPUR- FARIBKOTO, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGULAR TOO OPEN ON NH-364, WITHIN SAM FROM FEROZEPUR- ARIFER ROAD, IN NH-09, MALOUT-DABWALI ROAD ON NH-370, WITHIN MUNICIPAL LIMITS ZIRA FIROZPUR REGULAR FIROZPUR REGULAR 150 OPEN ON NH-364, BERTWEEN BPC REGUL	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN S KMF SPOM GURU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RING ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE WITHER GOING TOWARD MALOUT ROAD) ON NH-148B, FROM IT FLYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM IT FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-148B, FROM IT FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-138B, FROM IT FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-138B, FROM IT FLYOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-138B, FROM MIT FLYOVER TO WINDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-138B, FROM MIT FLYOVER TO WINDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH-138B, FROM MIT FLYOVER TO WINDER PASS (ON RIGHT HAND SIDE) BATHINDA REGULAR REGULAR 150 OPEN DC CFS ON NH-138B, FROM STAND SIDE ON NH-148B, FROM SIDE-SIDE MANSA REGULAR 150 OPEN DC CFS ON OLD NH-64E) ON LEFT HAND SIDE ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IOCL RO MYS DASHMESH FILLING STATION AT SHEKHPURA (BOTH SIDES). ON NH-154, WITHIN SKM FROM DANEWALA ROUND ABOUT TOWARDS DABWALL, ON LEFT HAND SIDE ON NH-154, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS DABWALL, ON LEFT HAND SIDE ON NH-354, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS SEBOZPUR FAILKA REGULAR 150 OPEN DC ON NH-354, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS SEBOZPUR FAILKA REGULAR 150 OPEN DC ON NH-354, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS SEBOZPUR FAILKA REGULAR 150 OPEN DC ON NH-354, WITHIN SKM FROM SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS DABWALL, ON LEFT HAND SIDE ON SHADAWALA SADIQ CIRCLE (TEHSIL SADIQ) TOWARDS SEBOZPUR FAILKA FROW THE ARTHON SIDE FAILKA FROW THE AR	STONE 28, ON RIGHT HAND SIDE ON NI-254, MITHIN IS KMS FROM GURU RAVIDASS CHOWKTO TOWARDS RANAM (ON RIGHT HAND SIDE) ON RIGH ROAD PHASE-2 BATHINDA, FROM NH 7 INTERSECTION WITH BATHINDA MING ROAD TO BADAL ROAD OVER BRIDGE, WITHIN MUNICIPAL LIMITS OF BATHINDA (ON LEFT HAND SIDE) NHILE GOING TOWARD MAJOUT ROAD) ON NH-1488, FROM ITH ITVOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA CONTROL TO STORY HAND SIDE) BATHINDA CONTROL TO STORY ON NH-1488, FROM ITH ITVOVER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH703 FROM THE VOYER TO UNDER PASS (ON RIGHT HAND SIDE) BATHINDA WITHIN MUNICIPAL LIMITS ON NH703 FROM MANSA KENCHIYAN TO ISHAR KAUR NURSING COLLEGE, ON LEFT HAND SIDE ON OLD HH-64E AND ENEW NH-54, FROM KM STONE 16 TO 20 (LAS PER OLD NH-64E) ON LEFT HAND SIDE ON OLD HH-64E AND ENEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON OLD HH-64E AND ENEW NH-54, FROM KM STONE 30 TO 33 (AS PER OLD NH-64E) ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IGCIC RO MYS DASHMESH FILLING ON NH-254, TALWANDI SABO TO MAUR ROAD, FROM GURU RAVIDASS CHOWK TO IGCIC RO MYS DASHMESH FILLING ON NH-9, WITHIN S KM FROM DANEWALA ROUND ABOUT ON NH-9, WITHIN S KM FROM SOLIQ (RICLE (TEHSIL SADIQ) ON NH-9, WITHIN S KM FROM SOLIQ (RICLE (TEHSIL SADIQ) ON NH-9, WITHIN S KM FROM SOLIQ (RICLE (TEHSIL SADIQ) ON NH-934, WITHIN S KM FROM GURU RAM DAS COLLEGE OF PHARMACY, JANDWALA TOWARDS BATHINDA, EITHER SIDE ON NH-934, WITHIN A KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MAULANNALA ON FEROZEPUR ON NH-934, WITHIN A KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MAULANNALA ON FEROZEPUR ON NH-934, WITHIN A KM FROM FEROZEPUR (OUTSIDE MUNICIPAL LIMITS) TOWARDS MAULANNALA ON FEROZEPUR ON NH-934, WITHIN MUNICIPAL LIMITS ZIRA FROZPUR REGULAR ON NH-934, WITHIN MUNICIPAL LIMIT, SIRA FROZPUR REGULAR FROZPUR REGULAR FROZPUR REGULAR 150 OPEN DC 35 ON NH-935, MORTH AND SIDE ON NH-934, MORTH AND SIDE ON NH-934, WITHIN MUNICIPAL LIMITS ZIRA FROZPUR REGULAR FROZPUR REGULAR FROZPUR REG	STONE 28, ON RIGHT HAND SIDE	STONE 28, ON RIGHT HAND SIDE ON NH-254, WHITHIS KMS FROM GURUR RAVIDASS CHOWX TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON RIGH GROUP PLASE-2 BATHINDA, FROM HAI INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WHILE GOING TOWARD MALOUT ROAD) WHILE GOING TOWARD MALOUT ROAD) WHILE GOING TOWARD MALOUT ROAD) WHILE GOING TOWARD MALOUT ROAD ON NH-1-48B, FROM TIE HEVORE TO LUNDER RASS (ON LEFT HAND SIDE WHILE GOING TOWARD MALOUT ROAD) ON NH-1-48B, FROM TIE HEVORE TO LUNDER RASS (ON LEFT HAND SIDE MAILE GOING TOWARD MALOUT ROAD) ON NH-1-48B, FROM TIE HEVORE TO LUNDER RASS (ON LEFT HAND SIDE MAILE GOING TOWARD MALOUT ROAD) ON NH-1-48B, FROM TIE HEVORE TO LUNDER RASS (ON LEFT HAND SIDE) AND SIDE JARTHINDA WITHIN MUNICIPAL LIMITS ON NH-1-48B, FROM TIE FLOWER TO LUNDER RASS (ON LEFT HAND SIDE MAILE CHAND SIDE) ON LEFT HAND SIDE JARTHINDA WITHIN MUNICIPAL LIMITS ON HATOS FROOD MARSK KENCHITANT TO ISHAR KAUR NURSING COLLEGE, ONLEH-HAND SIDE MAILE CHAND SIDE MAILE CHAN	STONE 28, ON RIGHT HAND SIDE ON NH-254, WITHIN S KMS FROM GUBU RAVIDASS CHOWK TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON NING ROAD HAS-2 RATHINDA, FROM MH 7 INTERSECTION WITH BATHINDA RING ROAD TO BADAL ROAD OVER BRIDGE, WHILE GOING TOWARD MAILOUT ROAD) BATHINDA Regular 150 OBC DC 20 20 400 32 WITHING MINING ROAD TO BADAL ROAD OVER BRIDGE, WHILE GOING TOWARD MAILOUT ROAD) ON NH-1438, FROM THE FYOVER TO UNDER PASS (ON LEFT HAND SIDE) BATHINDA (WITHIN MUNICIPAL LIMITS) BATHINDA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 30 30 900 32 NANSA Regular 150 OPEN DC 35 35 1225 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA Regular 150 OPEN DC 35 35 1225 32 0 NANSA REGULAR REG	STONE 28, ON RICHT HAND SIDE " FINLOPPUR Regular 2.55 3.5 3.5 1.225 3.2 9.5	STONE 28, ON RIGHT HAND SIDE **PRICEDOR*** INSURED HAND SIDE*** **PRICEDOR**** INSURED HAND SIDE*** **PRICEDOR**** INSURED HAND SIDE**** **PRICEDOR**** INSURED HAND SIDE**** **PRICEDOR**** INSURED HAND SIDE**** **PRICEDOR***** INSURED HAND SIDE**** **PRICEDOR************************************	STONE 28, ON RIGHT HAND SIDE ON NHI 254, WITHEN SKKK STONE GURD RAYMANS CHOWN TO TOWARDS RAMAN (ON RIGHT HAND SIDE) ON NHI 254, WITHEN SKKK STONE GURD RAYMANS CHOWN TO ON RING ROAD PRESE ZEATHINGA. REGION HIT THRESSECTION WITH BATHHANA RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL CORNEL THROW SIDE ON RING ROAD PRESE ZEATHINGA. REGION HIT THRESSECTION WITH BATHHANA RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL CORNEL THROW SIDE ON RING ROAD PRESE ZEATHINGA. REGION LETT HAND SIDE WHILE CORNEL THROW SIDE AND RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL THROW SIDE AND RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL THROW SIDE AND RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL THROW SIDE AND RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL THROW SIDE AND RING ROAD TO BADAL ROAD OVER RIDGE, WHILE CORNEL THROW SIDE AND RING ROAD THROW SIDE AND

	ON NH 148B, FROM VILLAGE BUDHPURA TO RELIANCE RETAIL		1 1		I	. I		Ī	I I		I	Draw of	I	I
253	OUTLET - RIL BUDHLADA	MANSA	Regular	150	OBC	DC	35	35	1225	32	95	Lots	15	4
254	BETWEEN KM STONE NO 3 TO 8, ON SH 15, DISTT FARIDKOT	FARIDKOT	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
255	ON SH12A, FROM NAYARA RETAIL OUTLET C&G ENTERPRISES MANSA TO VILLAGE DHAIPAI,	MANSA	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
256	ON GIDDERBAHA ROAD, WITHIN 1 KM ON EITHER SIDE OF KAMBOJ HOSPITAL, GIDDERBAHA WITHIN MUNICIPAL LIMITS	SRI MUKTSAR SAHIB	Regular	110	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
57	ON NH 7, WITHIN 5 KMS OF ADESH INSTITUTE OF MEDICAL SCIENCES AND RESEARCH TOWARDS BATHINDA, ON LEFT HAND SIDE	BATHINDA	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
258	ON NH354, VILLAGE BURA GUJJAR TEHSIL SRI MUKTSAR SAHIB	SRI MUKTSAR SAHIB	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
59	ON NH-54, BETWEEN KM STONE NO 168 TO 174, AMRITSAR- BHATINDA ROAD, ON RIGHT HAND SIDE	FIROZPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
60	ON MUKTSAR BURAGUJJAR ROAD , WITHIN TWO KM FROM RAILWAY CROSSING TOWARDS BURAGUJJAR, MUKTSAR WITHIN MUNICIPAL LIMTS	SRI MUKTSAR SAHIB	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
61	ON SH 16, WITHIN 4KM FROM BUS STAND KOTKAPURA TOWARDS SRI MUKTSAR SAHIB WITHIN MUNICIPAL LIMITS KOTKAPURA	FARIDKOT	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
262	TALWANDI BHAI(WITHIN MUNICIPAL LIMTS), NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY	FIROZPUR	Regular	100	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
63	ON NH7 FROM KM STONE 153 TO KM STONE 156 TOWARDS CHANDIGARH, ON RIGHT HAND SIDE	BATHINDA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
64	ON NH-54, BETWEEN KM STONE NO 240 TO 248, AMRITSAR- BHATINDA ROAD, ON RIGHT HAND SIDE	FARIDKOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	ON NH 5 (OLD NH 95), MOGA TO FEROZEPUR ROAD, FROM KM STONE 190 TO KM STONE 197, ON RIGHT HAND SIDE	FIROZPUR	Regular	155	OPEN	СС	35	35	1225	32	12	Bidding	30	5
66	ON MALWAL ROAD, FROM NAMDEV CHOWK TO BASTI NIZAMDEEN (BEFORE FIRST RAILWAY CROSSING), FEROZEPUR WITHIN MUNICIPAL LIMIT	FIROZPUR	Regular	155	OPEN	СС	20	20	400	32	12	Bidding	30	5
67	ON NH7 FROM KM STONE 150 TO KM STONE 153 TOWARDS CHANDIGARH, ON RIGHT HAND SIDE	BATHINDA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
68	ON NH-54, BETWEEN KM STONE NO 261 TO 266, AMRITSAR- BHATINDA ROAD, ON LEFT HAND SIDE	FARIDKOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
69	ON FARIDKOT TO FEROZEPUR ROAD (SH-15), BETWEEN KM STONE 21 AND KM STONE 23	FIROZPUR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
70	ON SH-17, I.E. BATHINDA TO TALWANDI SABO ROAD, BETWEEEN KM STONE 27 & KM STONE 32 (BOTH SIDES)	BATHINDA	Regular	150	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
71	ON GTB SCHOOL ROAD, BETWEEN GTB KHALSA SEN. SEC. SCHOOL AND GURU HINDUSTAN AGRO INDUSTRY GATE, MALOUT WITHIN MUNICIPAL LIMTS	SRI MUKTSAR SAHIB	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
272	ON NH7, WITHIN 3KM FROM MALOUT JUNCTION(TINKONI JUNCTION) TOWARDS BATHINDA, ON RIGHT HAND SIDE	SRI MUKTSAR SAHIB	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
273	ON NH 5 (OLD NH 95), MOGA TO FEROZEPUR ROAD, FROM KM STONE 174 TO KM STONE 178, ON RIGHT HAND SIDE	FIROZPUR	Regular	157	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

274	ON FEROZEPUR-FAZILKA ROAD (SH-20), FROM KM STONE 2 TO KM STONE 6, ON LEFT HAND SIDE	FIROZPUR	Regular	225	OPEN	сс	35	35	1225	32	12	Bidding	30	5
275	ON NH703 FROM ISHAR KAUR NURSING COLLEGE TO BABA JOGI PEER NAYARA RETAIL OUTLET, RALLA, ON LEFT HAND SIDE	MANSA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
276	ON ZIRA-FEROZEPUR ROAD (SH-20), FROM KM STONE 9 TO KM STONE 13, ON RIGHT HAND SIDE	FIROZPUR	Regular	225	OPEN	СС	35	35	1225	32	12	Bidding	30	5
277	MAMDOT WITHIN MUNICIPAL LIMIT	FIROZPUR	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
278	ON NH 5 (OLD NH-95), FROM QUILE WALA MORH TO ZIRA ROAD ROUND ABOUT, EITHER SIDE	FIROZPUR	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
279	ON NH148B, WITHIN 2 KMS FROM MANSA KENCHIYAN TOWARDS BHIKHI	MANSA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
280	ON NH7 FROM KM STONE 153 TO KM STONE 156 TOWARDS CHANDIGARH, ON LEFT HAND SIDE	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
281	ON NH703, FROM KM STONE 205 TO KM STONE 207	MANSA	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	ON NH 7, FROM FACTORY OUTLET, BHUCHO MANDI TO RIL RETAIL OUTLET, BHUCHO MANDI TOWARDS CHANDIGARH, ON LEFT HAND SIDE	BATHINDA	Regular	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
283	ON NH254, WITHIN 3 KMS FROM HP PETROL PUMP, SATYAWATI HP STATION TOWARDS PHUL, EITHER SIDE	BATHINDA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
284	ON NH148B FROM MAUR CHOWK TO HPCL RO M/S SINGLA FILLING STATION, ON LEFT HAND SIDE	BATHINDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
285	ON NH 703 , FROM KM STONE 207 TO KM STONE 212	MANSA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
286	ON NH-148B, FROM UNDERPASS TO JASSI CHOWK (ON LEFT HAND SIDE), BATHINDA WITHIN MUNICIPAL LIMITS	BATHINDA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
287	ON NH7 WITHIN 5 KMS OF DOON SENIOR SECONDARY PUBLIC SCHOOL TOWARDS CHANDIGARH, ON LEFT HAND SIDE	BATHINDA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
288	FROM BRIKS RESTAURANT TO ITI CHOWNK , BUDHALADA WITHIN MUNICIPAL LIMITS	MANSA	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
289	ON NH 62, ABOHAR - GANGANAGAR ROAD, FROM KM STONE 10 TO KM STONE 25, ON LEFT HAND SIDE	FAZILKA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
290	ABOHAR WITHIN MUNICIPAL LIMTS, NOT ON NATIONAL HIGHWAY	FAZILKA	Regular	111	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
291	ON NH 703, FROM MANSA KENCHIYAN TO ARVIND NAGAR COLONY MAIN GATE	MANSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
292	MANSA WITHIN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY	MANSA	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
293	VILLAGE BOHA WITHIN MUNICIPAL LIMITS ON BUDHLADA- RATIYA ROAD	MANSA	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
294	VILLAGE BARI JHAKHIAN ON BHARATGARH TO BARUWALA ROAD ; ON RIGHT HAND SIDE ON NH 205	RUPNAGAR	Regular	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
295	WITHIN MUNICIPAL LIMITS OF BANUR ON NH 7 (OLD NH - 64) EITHER SIDE	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
296	ON RIGHT HAND SIDE FROM VILLAGE HIRAN TO KATANI KALAN ON NH 5(OLD NH 95)	LUDHIANA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
297	IN BETWEEN BHANOPLI TO GANGUWAL ON NH 503 A	RUPNAGAR	Regular	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

298	MORINDA TO KHARAR ON NH 05	RUPNAGAR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
299	HAIBATPUR, HAIBATPUR- SAIDPURA ROAD, WITHIN MUNICIPAL LIMITS OF DERABASSI	SAS NAGAR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
300	IN BETWEEN JAGRAON BRIDGE TO VERKA BRIDGE, ON LEFT HAND SIDE ON FEROZPUR ROAD, LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	240	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
301	ON RAIKOT BYPASS, RAIKOT WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
302	VILLAGE PANDORI, ON NH 95, LUDHIANA	LUDHIANA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
303	MULLANPUR TO JAGRAON AFTER TOLL ON NH9	LUDHIANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
304	FROM CHARHERI TO CHAKLAN ON LEFT HAND SIDE ON NH 205 (OLD NH 21)	RUPNAGAR	Regular	250	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
305	VILLAGE BHANOHAD, ON NH 95 LUDHIANA	LUDHIANA	Regular	210	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
306	ON LEFT HAND SIDE FROM SANETA TO LANDRAN ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
307	ON SOUTHERN BYPASS, ON LEFT HAND SIDE FROM GILL ROAD JUNCTION TO DUGRI ROAD, LUDHIANA (WITHIN MUNICIPAL LIMIT)	LUDHIANA	Regular	200	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
308	BALTANA, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
309	ON 200 FEET ROAD, ON RIGHT HAND SIDE FROM JAIN MANDIR CHOWK TO PHULLANWAL CHOWK, LUDHIANA (WITHIN MUNICIPAL LIMITS)	LUDHIANA	Regular	180	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
310	ON RIGHT HAND SIDE FROM MUNDIA TO KOHARA ON NH 5 (OLD NH 95) OUTSIDE MUNICIPAL LIMITS	LUDHIANA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
311	ON LINK ROAD, IN BETWEEN BHARAT NAGAR CHOWK AND GILL CHOWK, LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	150	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
312	FROM ZIRAKPUR BUS STAND LIGHTS POINT TO DHAKOLI - WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
313	VILLAGE DORAHA, ON LEFT HAND SIDE ON LUDHIANA TO DELHI ON NH 44 BEFORE DORAHA CANAL	LUDHIANA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
314	IN BETWEEN KM STONE NO 554 TO 556 ON LEFT HAND SIDE , LUDHIANA TO DELHI ROAD, ON NH-44	LUDHIANA	Regular	240	OPEN	СС	35	35	1225	32	12	Bidding	30	5
315	IN BETWEEN KM STONE NO 555 TO 558 ON LEFT HAND SIDE LUDINFROM G T ROAD TO VILLAGE JASPALON	LUDHIANA	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
316	ON JEEVAN NAGAR ROAD , WITHIN MUNICIPAL LIMITS OF LUDHIANA	LUDHIANA	Regular	190	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
317	BANUR TO VILLAGE GOBINDPURA ON RIGHT HAND SIDE ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
318	ON LEFT HAND SIDE FROM DERABASSI PANCHAYAT SAMITI OFFICE TO CONCOR ENTRY DAPPAR ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
319	WITHIN 2KM FROM KHANNA CITY CENTRE ON LEFT HAND SIDE OF NH44 (DELHI TO LUDHIANA)	LUDHIANA	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
320	ON RIGHT HAND SIDE FROM SAMRALA CHOWK TO SHIV CHOWK ,WITHIN MUNICIPAL LIMITS OF LUDHIANA	LUDHIANA	Regular	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
321	FATEHGARH CITY (WITHIN MUNCIPAL LIMIT)	FATEHGARH SAHIB	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

322	VILLAGE MALAHERI ON LEFT HAND SIDE FROM SIRHIND TO PATIALA, SH-8, DISTRICT FATEHGARH SAHIB	FATEHGARH SAHIB	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
323	ON LEFT HAND SIDE FROM SAMRALA CHOWK TO JAMALPUR CHOWK ON NH 5(OLD NH 95), WITHIN MUNICIPAL LIMIT OF LUDHIANA	LUDHIANA	Regular	170	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
324	ON RIGHT HAND SIDE FROM AIRPORT LIGHTS AT NH-7 TO NH 152 (PR 7) - WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	230	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
325	VILLAGE MAUJA HIMMATGARH, ON LEFT HAND SIDE FROM K AREA LIGHT POINT TO OLD KALKA SHIMLA ROAD - WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	200	OPEN	СС	40	40	1600	32	12	Bidding	30	5
326	IN BETWEEN KM STONE NO. 595 AND 589 RAJPURA TO SIRHIND (ON LEFT HAND SIDE) NH 1 (OLD NH 44)	FATEHGARH SAHIB	Regular	156	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	ON LEFT HAND SIDE OF NH44 (OLD NH 1) WITHIN MANDIGOBINDGARH MUNICIPAL LIMITS (LUDHIANA TO DELHI)	LUDHIANA	Regular	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
328	PANCHKULA SEC 20-21 DIVIDING ROAD TO HOTEL MIDTOWN GRAND, PEERMUSHALLA, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	200	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
329	HOTEL MIDTOWN GRAND TO AASTHA CITY ROAD, PEERMUSHALLA, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	200	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
330	SECTOR 53, MOHALI, DISTRICT SAS NAGAR	SAS NAGAR	Regular	250	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
331	ON RIGHT HAND SIDE OF NH44 (OLD NH 1) WITHIN MANDIGOBINDGARH MUNICIPAL LIMITS (LUDHIANA TO DELHI)	LUDHIANA	Regular	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
332	DERABASSI WITHIN MUNICIPAL LIMITS (NOT ON NATIONAL / STATE HIGHWAY)	SAS NAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
333	ON LEFT HAND SIDE FROM CONCOR ENTRY DAPPAR TO SARSINI (HARYANA BARRIER) ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
334	WITHIN 3 KM FROM MANDIGOBINDGARH MUNCIPAL LIMIT ON NH44, TOWARDS DELHI	LUDHIANA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
335	BALONGI, SAS NAGAR, WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
336	VILLAGE MUBARIKPUR (WITHIN DERABASSI MUNICIPAL LIMITS)	SAS NAGAR	Regular	180	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
337	SINGHPURA CHOWK (ON NH 152) TO VILLAGE SINGHPURA ON SINGHPURA ROAD, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
338	IN BETWEEN KHANNA TO KHERI NAUDH SINGH ROAD, KHANNA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
339	JHANJHERI TO CHUNNIKALAN ON ON LEFT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
340	VILLAGE LEHLI, WITHIN MUNICIPAL LIMITS OF LALRU NAGAR PANCHAYAT, NOT ON NH	SAS NAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
341	WITHIN MUNICIPAL LIMITS OF NAYAGAON	SAS NAGAR	Regular	220	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
342	ON LALHERI ROAD, WITHIN MC LIMITS OF KHANNA	LUDHIANA	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
343	VILLAGE NAGLA TO VILLAGE SANAULI, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
344	ON LEFT HAND SIDE FROM LANDRAN TO SOHANA ON SH 12A	SAS NAGAR	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
345	ON SH 12A ON LEFT HAND SIDE FROM AMLOH TO BHADSON	LUDHIANA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

346	SINGHPURA CHOWK (ON NH 152) TO VILLAGE NAGLA ON NAGLA ROAD, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	130	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
347	ON RIGHT HAND SIDE FROM DERABASSI PANCHAYAT SAMITI OFFICE TO CONCOR ENTRY DAPPAR ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
348	ON RIGHT HAND SIDE FROM LANDRAN TO SOHANA ON SH 12A	SAS NAGAR	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
349	KHANNA MALERKOTLA ROAD, WITHIN KHANNA MUNCIPAL LIMIT	LUDHIANA	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
350	VIP ROAD, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	250	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
351	ON LEFT HAND SIDE FROM KM STONE NO. 344 TO 339, (ZIRAKPUR TO BANUR) ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
352	JHANJHERI TO CHUNNIKALAN ON ON RIGHT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
353	ON LEFT HAND SIDE FROM KM STONE NO. 13 TO 19, (BHAGOMAJRA TO GHARUAN) ON NH 5 (OLD NH 95)	SAS NAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
354	ON RIGHT HAND SIDE FROM KM STONE NO. 344 TO 339, (BANUR TO ZIRAKPUR) ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
355	ON RIGHT HAND SIDE FROM BANUR TO TANGORI ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
356	IN BETWEEN NURPUR TO HALWARA, ON LEFT HAND SIDE ON SH 13	LUDHIANA	Regular	180	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
357	PAVILION MALL TO HAIBOWAL CHOWK ON HAMBRAN ROAD ON LEFT HAND SIDE , LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	200	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
358	ON LEFT HAND SIDE FROM KM STONE NO. 336 TO 339, (BANUR TO ZIRAKPUR) ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
359	ON LEFT HAND SIDE FROM DERABASSI PANCHAYAT SAMITI OFFICE TO PSPCL OFFICE ZIRAKPUR ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
360	ON LEFT HAND SIDE FROM BANUR TO TANGORI ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
361	WITHIN 2 KMS OF BESTECH MALL ON MOHALI RAILWAY STATION ROAD	SAS NAGAR	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
362	ON RIGHT HAND SIDE FROM CONCOR ENTRY DAPPAR TO LALRU MIANPUR ROAD INTERSECTION ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
363	ON RIGHT HAND SIDE FROM BANUR TO TEPLA ON NH 205 A	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
364	ON RIGHT HAND SIDE FROM SANETA TO LANDRAN ON BANUR TO LANDRAN ROAD (NH-205A)	SAS NAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
365	ON LEFT HAND SIDE FROM OLD KM STONE NO. 8 AT HAMAYOUNPUR TO OLD KM STONE NO. 14 AT HANDESRA ON NH 344 (OLD NH 72)	SAS NAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
366	LAKHNAUR ON LAKHNAUR PIND ROAD, SH 12 A, TEHSIL SAS NAGAR	SAS NAGAR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
367	DERABASSI TO BARWALA ROAD - SH 09 (WITHIN DERABASSI MUNICIPAL LIMITS)	SAS NAGAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
368	HIGH GROUND ROAD, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
369	VILLAGE SOHANA WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5

370	ON RIGHT HAND SIDE FROM LANDRAN TO CHAPPAR CHIRI KHURD ON NH 205A	SAS NAGAR	Regular	410	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
371	AIRPORT LIGHT POINT TO BANUR ON LEFT HAND SIDE ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
372	ON RIGHT HAND SIDE FROM OLD KM STONE NO. 8 AT HAMAYOUNPUR TO OLD KM STONE NO. 14 AT HANDESRA ON NH 344 (OLD NH 72)	SAS NAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
373	WITHIN MUNICIPAL LIMITS OF ZIRAKPUR ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
374	BANUR TO VILLAGE GOBINDPURA ON LEFT HAND SIDE ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
375	ON LEFT HAND SIDE FROM LANDRAN TO CHAPPAR CHIRI KHURD ON NH 205A	SAS NAGAR	Regular	410	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
376	WITHIN 1 KM OF ROYALE EMPIRE ENTRY GATE, PEERMUSHALLA, WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	200	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
377	ON RIGHT HAND SIDE FROM DERABASSI PANCHAYAT SAMITI OFFICE TO PSPCL OFFICE ZIRAKPUR ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
378	IN BETWEEN KM STONE NO. 595 AND 599, SIRHIND TO RAJPURA (ON LEFT HAND SIDE),NH 1 (OLD NH 44)	FATEHGARH SAHIB	Regular	168	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
379	VILLAGE CHILLA WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
380	WITHIN MUNICIPAL LIMITS OF BANUR (NOT ON NATIONAL HIGHWAY)	SAS NAGAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
381	ON LEFT HAND SIDE FROM SARSINI (HARYANA BORDER) TO ENTRY GATE OF MANOR BANQUET WHILE TRAVELLING FROM AMBALA TO CHANDIGARH, ON NH 152 (OLD NH 22)	SAS NAGAR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
382	PAVILION MALL TO HAIBOWAL CHOWK ON HAMBRAN ROAD ON RIGHT HAND SIDE , LUDHIANA WITHIN MUNICIPAL LIMIT	LUDHIANA	Regular	180	ОВС РН	DC	30	30	900	32	75	Draw of Lots	15	4
383	VILLAGE RASULPUR ON RUPNAGAR BYEPASS ROAD ON NH 344 A	RUPNAGAR	Regular	250	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
384	ON LEFT HAND SIDE FROM AIRPORT LIGHTS AT NH-7 TO NH 152 (PR 7) - WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	230	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
385	SIRHIND BYE PASS	FATEHGARH SAHIB	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
386	IN BETWEEN KM STONE NO. 595 AND 589 RAJPURA TO SIRHIND (ON RIGHT HAND SIDE) NH 1 (OLD NH 44)	FATEHGARH SAHIB	Regular	162	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
387	IN BETWEEN KM STONE NO. 589 AND 585 RAJPURA TO SIRHIND (ON LEFT HAND SIDE) NH 1 (OLD NH 44)	FATEHGARH SAHIB	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
388	LANDRAN TO JHANJHERI ON RIGHT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	230	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
389	WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	405	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
390	IN BETWEEN KM STONE NO. 589 AND 585 RAJPURA TO SIRHIND (ON RIGHT HAND SIDE) NH 1 (OLD NH 44)	FATEHGARH SAHIB	Regular	162	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
391	BETWEEN SOHANA GURUDWARA AND YPS CHOWK ON HIMALAYAN MARG SAS NAGAR	SAS NAGAR	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
392	ON LEFT HAND SIDE OF ROAD BETWEEN SUNNY ENCLAVE AND VERKA CHOWK FROM KHARAR TO CHANDIGARH ON NH 5	SAS NAGAR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
393	ON RIGHT HAND SIDE OF ROAD BETWEEN SUNNY ENCLAVE AND VERKA CHOWK FROM KHARAR TO CHANDIGARH NH 5	SAS NAGAR	Regular	280	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

394	ON LEFT HAND SIDE FROM KM STONE NO. 331 TO 334, (BANUR TO ZIRAKPUR) ON NH 7 (OLD NH 64)	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
395	IN BETWEEN KM STONE NO. 23 AND 30, KHARAR TO KURALI (ON RIGHT HAND SIDE), NH 205A	SAS NAGAR	Regular	240	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
396	ON LEFT HAND SIDE FROM LANDRAN TO SOHANA ON SH 12A	SAS NAGAR	Regular	220	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
397	SECTOR 116, MOHALI, WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
398	IN BETWEEN KM STONE NO. 23 AND 30, KHARAR TO KURALI (ON LEFT HAND SIDE), NH 205A	SAS NAGAR	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
399	MOHALI TO LANDRAN ON RIGHT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	210	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
400	ON LEFT HAND SIDE FROM KHARAR TO CHAPPAR CHIRI KHURD ON NH 205A	SAS NAGAR	Regular	410	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
401	PHASE 8, INDUSTRIAL AREA, TEHSIL SAS NAGAR	SAS NAGAR	Regular	270	SC	CFS	30	35	1050	0	0	Draw of Lots	0	3
402	VILLAGE MAULI BAIDWAN, TEHSIL SAS NAGAR	SAS NAGAR	Regular	205	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
403	SECTOR -86, MOHALI	SAS NAGAR	Regular	250	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
404	WITHIN 2 KM OF SECTOR -119, MOHALI	SAS NAGAR	Regular	250	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
405	VILLAGE HASANPUR, WITHIN MUNICIPAL LIMITS OF LALRU NAGAR PANCHAYAT	SAS NAGAR	Regular	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
406	VILLAGE GOBINDGARH , ON SH 13 BARNALA ROAD	LUDHIANA	Regular	104	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
407	LANDRAN TO JHANJHERI ON LEFT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	230	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
408	ON RIGHT HAND SIDE FROM KHARAR TO CHAPPAR CHIRI KHURD ON NH 205A	SAS NAGAR	Regular	410	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
409	ON LEFT HAND SIDE FROM BANUR TO TEPLA ON NH 205 A	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
410	MOHALI TO LANDRAN ON LEFT HAND SIDE ON SH 12 A	SAS NAGAR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
411	SECTOR 82 MOHALI WITHIN MUNICIPAL LIMITS OF MOHALI	SAS NAGAR	Regular	205	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
412	IN BETWEEN KM STONE NO. 17 AND 23, KHARAR TO KURALI (ON LEFT HAND SIDE), NH 205A	SAS NAGAR	Regular	240	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
413	IN BETWEEN KM STONE NO. 17 AND 23, KHARAR TO KURALI (ON RIGHT HAND SIDE), NH 205A	SAS NAGAR	Regular	240	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
414	VILLAGE GAZIPUR ON OLD AMBALA ROAD (DHAKOLI - MUBARAKPUR), WITHIN MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
415	BETWEEN KM STONE NO. 323 TO 325 ON NH -7 LHS (ON LEFT HAND SIDE) WHILE MOVING FROM RAJPURA TO ZIRKPUR ROAD	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
416	BETWEEN KM STONE NO. 145 TO 147 ON NH 703	BARNALA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
417	ON NEW NH 148BB SUNAM JAKHAL ROAD BETWEEN RADHA SOAMI SATSANG BHAWAN TO DSP OFFICE LEHRAGAGA	SANGRUR	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5

418	BETWEEN ELECTRICITY BOARD GRID (220KV) OFFICE TO ANAJ MANDI ON DHANAULA ROAD, VILLAGE DHANAULA, TEHSIL- DHANAULA	BARNALA	Regular	100	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
419	BETWEEN KM STONE NO. 54 TO 57 ON SH 11	SANGRUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
420	BETWEEN KM STONE 412 TO 417 ON NH 44 (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO PATHANKOT)	HOSHIARPUR	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
421	ON MAHAVIR MARG, BETWEEN CHICK CHICK CHOWK AND KAPURTHALA CHOWK, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	320	OPEN	сс	20	20	400	32	12	Bidding	30	5
422	ON JALANDHAR-NAKODAR ROAD, BETWEEN JYOTI CHOWK AND NAKODAR CHOWK WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
423	BETWEEN KM STONE 48 TO 45 ON SH-24 (ON LEFT HAND SIDE WHILE GOING FROM GARHSHANKAR TO BALACHAUR)	HOSHIARPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
424	ON OLD GT ROAD BETWEEN WORKSHOP CHOWK AND MAQSUDAN CHOWK WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY	JALANDHAR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
425	BETWEEN PPR MALL TO SHANTI BHAWAN VIA VINAY MANDIR WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
426	ON 66 FEET ROAD, WITHIN MUNICIPAL LIMIT OF JALANDHAR CITY	JALANDHAR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
427	PHAGWARA (WITHIN MUNICIPAL LIMIT), ON PHAGWARA TO JANDIALA ROAD	KAPURTHALA	Regular	210	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
428	VILLAGE CHAK GUJJRAN ON NH3 (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO HOSHIARPUR)	HOSHIARPUR	Regular	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
429	ON LEFT HAND SIDE OF JALANDHAR-NAKODAR ROAD, BETWEEN RAVIDASS CHOWK AND WADALA CHOWK (WHILE GOING FROM NAKODAR CHOWK TO NAKODAR) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
430	BETWEEN KM STONE 6 TO 9 ON NH 703A (ON LEFT HAND SIDE WHILE GOING FROM KAPURTHALA CHOWK TO KAPURTHALA)	JALANDHAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
431	BETWEEN KM STONE NO. 266 TO 270 ON NH7 LHS (ON LEFT HAND SIDE) (SANGRUR TO PATIALA SIDE)	PATIALA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
432	BETWEEN KM STONE 15 TO 20 ON NH 344A (ON LEFT HAND SIDE WHILE GOING FROM PHAGWARA TO CHANDIGARH)	SHAHID BHAGAT SINGH NAGAR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
433	ON LEFT HAND SIDE OF KAPURTHALA-JALANDHAR ROAD, BETWEEN KAPURTHALA CHOWK AND SPORTS & SURGICAL GOODS COMPLEX WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY (WHILE GOING FROM JALANDHAR TO KAPURTHALA)	JALANDHAR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
434	BETWEEN KM STONE 6 TO 17 ON NH 703 (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO SHAHKOT)	JALANDHAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
435	BETWEEN KM STONE 52 TO 65 ON NH 344A (ON LEFT HAND SIDE WHILE GOING FROM PHAGWARA TO CHANDIGARH)	SHAHID BHAGAT SINGH NAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
436	PATRAN TO HAMJHERI BYPASS, (PATRAN WITHIN MUNICIPALITY LIMIT), DISTT-PATIALA	PATIALA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
437	VILLAGE NASRALA ON NH3 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO HOSHIARPUR)	HOSHIARPUR	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

438	VILLAGE SANSARPUR ON JALANDHAR CANTT BYPASS ROAD ON RIGHT HAND SIDE (WHILE GOING TOWARDS JAMSHER) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	190	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
439	BANGA (WITHIN MUNCIPAL LIMIT), ON BANGA - GARHSHANKAR ROAD, TEHSIL BANGA	SHAHID BHAGAT SINGH NAGAR	Regular	140	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
440	ON BANRNALA - LUDHIANA ROAD, BETWEEN ITI CHOWK TO SEKHA CHOWK ON LEFT HAND SIDE.	Barnala	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
441	GORAYA (WITHIN MUNICIPAL LIMIT), ON GORAYA TO RURKA KALAN ROAD	JALANDHAR	Regular	190	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
442	PRABHAT CHOWK TO NALOIYAN CHOWK, ON EITHER SIDE OF NH03, WITHIN MUNICIPAL LIMITS OF HOSHIARPUR	HOSHIARPUR	Regular	170	ОВС	DC	30	30	900	32	95	Draw of Lots	15	4
443	FROM RAMA MANDI CHOWK TOWARDS JANDU SINGHA - ON RIGHT HAND SIDE (WHILE GOING FROM JALANDHAR TO HOSHIARPUR) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	190	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
444	BETWEEN KM STONE 381 TO 395 ON NH 44 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO PATHANKOT)	HOSHIARPUR	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
445	ALAWALPUR (WITHIN MUNICIPAL LIMIT), ON ALAWALPUR TO KISHANGARH ROAD	JALANDHAR	Regular	150	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
446	BETWEEN KM STONE NO. 10 TO 15 ON NH 254 (BAGHAPURANA MUDKI ROAD)	MOGA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
447	VILLAGE DHILWAN TEHSIL JALANDHAR I (ON TALHAN ROAD) ON RIGHT HAND SIDE WHILE GOING TOWARDS DHILWAN, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
448	BETWEEN DOABA CHOWK TO DAMORIA PULL VIA KISHANPURA CHOWK, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
449	NAWANSHAHR (WITHIN MUNICIPAL LIMIT), ON GHARSHANKAR ROAD	SHAHID BHAGAT SINGH NAGAR	Regular	160	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
450	BETWEEN KM STONE NO. 265 TO 268 ON NH7 RHS (RIGHT HAND SIDE) (SANGRUR TO PATIALA SIDE)	PATIALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
451	BETWEEN KM STONE 499 TO 505 ON NH44 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO LUDHIANA)	JALANDHAR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
452	ON NH44 FROM SHAHEED BANTA SINGH SANGHWAL CHOWK TOWARDS BHOGPUR ON RIGHT HAND SIDE (WHILE GOING FROM JALANDHAR TO PATHANKOT) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	190	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
453	BANGA (WITHIN MUNICIPAL LIMIT), ON BANGA -MUKANDPUR ROAD	SHAHID BHAGAT SINGH NAGAR	Regular	155	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
454	ON NH44 FROM SHAHEED BANTA SINGH SANGHWAL CHOWK TOWARDS BHOGPUR ON LEFT HAND SIDE (WHILE GOING FROM JALANDHAR TO PATHANKOT) WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
455	BETWEEN KM STONE NO. 35 TO 44 ON SH 12 A RHS (RIGHT HAND SIDE) (BHAVANIGARH TO BIKHI ROAD)	SANGRUR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
456	BETWEEN KM STONE 424 TO 428 ON NH 44 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO PATHANKOT)	HOSHIARPUR	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5

457	BETWEEN KM STONE NO. 136 TO 141 (ON ROAD GOING FROM PATRAN TO MOONAK I.E. SH 10)	SANGRUR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
458	BETWEEN KM STONE 35 TO 17 ON NH 344A (ON LEFT HAND SIDE WHILE GOING FROM CHANDIGARH TO PHAGWARA)	SHAHID BHAGAT SINGH NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
459	HOSHIARPUR CITY, (WITHIN MUNICIPAL LIMITS), FROM SHAHEED BHAGAT SINGH CHOWK TO SHIMLA PAHARI CHOWK	HOSHIARPUR	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
460	SHAMCHAURASI (WITHIN MUNICIPAL LIMIT) ON DOSARKA - SHAMCHURASI ROAD	HOSHIARPUR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
461	ON LINK ROAD, BETWEEN GURU AMARDAS CHOWK AND SHREE GURU RAVIDASS BHAWAN WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	320	OPEN	СС	20	20	400	32	12	Bidding	30	5
462	ON GURU NANAK DEV UNIVERSITY ROAD FROM CHUGGITTI CHOWK TOWARDS GNDU, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
463	BETWEEN KM STONE 31 TO 36 ON SH-24 (ON LEFT HAND SIDE WHILE GOING FROM BALACHAUR TO GARHSHANKAR)	SHAHID BHAGAT SINGH NAGAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
464	ON OLD PHAGWARA ROAD, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
465	VILLAGE HAMIRA TEHSIL DHILWAN ON NH03 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO AMRITSAR)	KAPURTHALA	Regular	255	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
466	VILLAGE RAMIDI TEHSIL DHILWAN ON NH03 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO AMRITSAR)	KAPURTHALA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
467	BETWEEN KM STONE 37 TO 42 ON SH-24 (ON RIGHT HAND SIDE WHILE GOING FROM BALACHAUR TO GARHSHANKAR)	SHAHID BHAGAT SINGH NAGAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
468	ON NH03 ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO AMRITSAR (KARTARPUR Within Municipal Limits)	JALANDHAR	Regular	200	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
469	BETWEEN KM STONE 474 TO 480 ON NH44 (ON RIGHT HAND SIDE WHILE GOING FROM JALANDHAR TO LUDHIANA)	KAPURTHALA	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
470	ON RIGHT HAND SIDE WHILE GOING FROM LAMBAPIND CHOWK TO JANDU SINGA, WITHIN MUNICIPAL LIMIT OF JALANDHAR	JALANDHAR	Regular	200	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
471	BADNI KALAN BY PASS ON NH 703 LHS (LEFT HAND SIDE) (MOGA TO BARNALA SIDE)	MOGA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
472	BETWEEN KM STONE 6 TO 8 ON NH344A (ON RIGHT HAND SIDE WHILE GOING TOWARDS BANGA)	KAPURTHALA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
473	ON NH344B WITHIN MUNICIPAL LIMITS OF PHAGWARA	KAPURTHALA	Regular	250	OPEN	СС	30	30	900	32	12	Bidding	30	5
474	BETWEEN KM STONE 13 TO 16 ON NH703A (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO KAPURTHALA)	KAPURTHALA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
475	BETWEEN KM STONE 489 TO 494 ON NH44 (ON LEFT HAND SIDE WHILE GOING FROM JALANDHAR TO LUDHIANA)	JALANDHAR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
476	BETWEEN KM STONE NO.597 TO 602 ON NH-44 LHS (LEFT HAND SIDE) (WHILE MOVING FROM RAJPURA TO SIRHIND SIDE)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
477	ON NH-7 BETWEEN KM STONE NO. 257 TO 261 ON RHS (RIGHT HAND SIDE) (WHILE MOVING FROM SANGRUR TO PATIALA)	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

478	BETWEEN KM STONE NO. 76 TO 79 ON NH 703 (MOGA TO JALANDHAR ROAD)	MOGA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
479	BETWEEN KM STONE NO. 239 TO 248 ON NH7 RHS (RIGHT HAND SIDE) WHILE GOING FROM BARNALA TO PATIALA)	SANGRUR	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
480	BETWEEN KM STONE NO. 132 TO 140 ON NH-703 LHS (LEFT HAND SIDE) (WHILE MOVING FROM MOGA TO BARNALA)	BARNALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
481	BETWEEN KM STONE NO. 290 TO 292, ON NH-7 LHS (LEFT HAND SIDE)(WHILE MOVING FROM SANGRUR TO PATIALA SIDE)	PATIALA	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
482	BETWEEN KM STONE NO 318 TO 321 ON NH-7 LHS (LEFT HAND SIDE) (WHILE MOVING FROM RAJPURA TO ZIRAKPUR)	PATIALA	Regular	150	OBC PH	DC	35	45	1575	32	95	Draw of Lots	15	4
483	BETWEEN KM STONE NO. 192 TO 194 ON NH7 LHS (LEFT HAND SIDE) WHILE MOVING FROM BARNALA TO SANGRUR	BARNALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
484	ON NH 7 BETWEEN KM STONE NO. 172 TO 175 LHS (LEFT HAND SIDE) WHILE MOVING FROM BHATINDA TO BARNALA	BARNALA	Regular	250	OPEN	СС	35	45	1575	32	12	Bidding	30	5
485	SUNAM WITHIN MUNICIPAL LIMITS FROM ITI CHOWK TO BANKE BIHARI FLOOR MILL ON SUNAM JAKHAL ROAD (NEW NH 148BB)	SANGRUR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
486	BETWEEN KM STONE NO. 57 TO 67 ON SH 11	SANGRUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
487	WITH IN 5 KM FROM LOHARA CHOWK BETWEEN LOHARA CHOWK TO KOT ISSE KHAN AT AMRITSAR ROAD ON NH 703 B	MOGA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
488	BETWEEN KM STONE NO. 136 TO 139 ON NH-95 LHS (LEFT HAND SIDE) (WHILE MOVING FROM LUDHIANA TO MOGA)	MOGA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
489	ON NH-7 BETWEEN KM STONE NO. 229 TO 238 ON RHS (RIGHT HAND SIDE) (BARNALA TO PATIALA)	SANGRUR	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
490	BETWEEN KM STONE NO. 239 TO 248 ON LHS (LEFT HAND SIDE) (BARNALA TO PATIALA) ON NH-7	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
491	BETWEEN KM STONE NO. 164 TO 167 ON NH-95 LHS (LEFT HAND SIDE) (MOGA TO FREOZPUR)	MOGA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
492	ON SH 10 BETWEEN KM STONE NO. 93 TO 95 LHS (LEFT HAND SIDE) (PATIALA TO SAMANA ROAD)	PATIALA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
493	BETWEEN KM STONE NO 279 TO 290 ON NH-7 LHS (LEFT HAND SIDE) (WHILE MOVING FROM SANGRUR TO RAJPURA SIDE)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
494	WITHIN MUNICIPALITY LIMIT ON PATRAN CHUNAGRA ROAD BETWEEN GURUDWARASAHIB PATSHAHI PATRAN TO SEWAGE TREATMENT PLANT	PATIALA	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
495	BETWEEEN KM STONE NO. 181 TO 185 ON NH7 RHS (RIGHT HAND SIDE) (WHILE MOVING FROM BHATINDA TO BARNALA)	BARNALA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
496	RAJPURA WITHIN MUNICIPAL LIMIT BETWEEN GAGAN CHOWK TO RAILWAY FLYOVER BRIDGE ON KALKA ROAD	PATIALA	Regular	100	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
497	BETWEEN KM STONE NO. 23 TO 26 ON PATIALA-PEHOWA ROAD, SH-8, DISTT. PATIALA.	PATIALA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
498	BETWEEN KM STONE NO 603 TO 608 ON NH-44 LHS (RIGHT HAND SIDE) (WHILE MOVING SIRHIND TO SHAMBHOO BORDER SIDE)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
499	ON NH 52 WITHIN 6 KM FROM VIHSWAKRAMA AGRO INDUSTRY DIRBA LHS (LEFT HAND SIDE) (WHILE MOVING FROM DIRBA TO SANGRUR)	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
500	BETWEEN KM STONE NO. 612 TO 619 ON NH-44 RHS (RIGHT HAND SIDE) (WHILE MOVING FROM SHAMBHU TO RAJPURA SIDE)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5

501	BETWEEN PATRAN SHIV FARM HOUSE GATE TO ROYAL FAMILY DHABA DUGAL GATE LHS (LEFT HAND SIDE) (WHILE MOVING FROM PATRAN TO DIRBA) ON NH52	PATIALA	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
502	BETWEEN KM STONE NO. 320 TO 323 ON NH-7 LHS (LEFT HAND SIDE) (WHILE MOVING FROM RAJPURA TO ZIRKPUR ROAD)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
503	ON SH-12A (NABHA BYPASS) FROM NABHA-CHANNO CROSSING TO RADHA SWAMI SATSANG BHAWAN	PATIALA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
504	PATIALA WITHIN MUNICIPAL LIMITS (BETWEEN YPS CHOWK TO THIKRIWALA CHOWK ON STADIUM ROAD)	PATIALA	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
505	(WITHIN MUNICIPAL LIMIT OF MOGA, BETWEEN MOGA BUS STAND, MOGA TO LOHARA CHOWK, MOGA ON AMRITSAR ROAD	MOGA	Regular	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
506	BETWEEN KM STONE NO.19 TO 30 ON SH 12 A LHS (LEFT HAND SIDE) (BHAVANIGARH TO BIKHI ROAD)	SANGRUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
507	GURUDWARA DUKH NIWARAN SAHIB TO BARAN RHS (RIGHT HAND SIDE) , ON SH-31	PATIALA	Regular	150	OPEN PH	DC	20	20	400	32	75	Draw of Lots	15	5
508	KHANAURI TOWN ON ROAD BETWEEN POLICE STATION KHANAURI TO BUS STAND KHANAURI (NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY)	SANGRUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
509	BETWEEN KM STONE NO 602 TO 609 ON NH-44 LHS (LEFT HAND SIDE) (WHILE MOVING FROM SHAMBHOO BORDER TO SIRHIND SIDE SIDE)	PATIALA	Regular	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
510	ON NH-7 BETWEEN KM STONE NO. 229 TO 238 ON LHS (LEFT HAND SIDE) (BARNALA TO PATIALA ROAD)	SANGRUR	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
511	BETWEEN KM STONE NO. 110 TO 115 ON NEW NH-703 LHS (LEFT HAND SIDE) (WHILE MOVING MOGA TO BARNALA.	MOGA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of Lots	15	4
512	WITHIN 5 KM FROM MEHLAN CHOWK ON RHS (RIGHT HAND SIDE) (WHILE MOVING FROM SANGRUR TO PATRAN) ON NH52	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
513	BETWEEN KM STONE NO. 73 TO 75 ON SH 11	SANGRUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
514	BETWEEN KM STONE NO. 621 TO 624 ON NH 44 RHS (RIGHT HAND SIDE) (WHILE MOVING FROM SIRHIND TO SHAMBHOO BORDER SIDE)	PATIALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
515	WITHIN MUNICIPAL LIMITS OF AMARGARH, ON EITHER SIDE OF MALERKOTLA NABHA ROAD FROM GOVT SR SEC SMART SCHOOL AMARGARH TO POLICE STATION AMARGARH	MALERKOTLA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
516	BAGHAPURANA WITHIN MUNICIPAL LIMIT ON SH 16 ON EITHER SIDE OF BAGHAPURANA CROSSING	MOGA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
517	BETWEEN HIMLAND PUBLIC SCHOOL GATE DIRBA TO ROYAL FAMILY DHABA DUGAL KALAN ON LHS (LEFT HAND SIDE) (WHILE MOVING FROM SANGRUR TO PATRAN) ON NH52	SANGRUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
518	WITHIN MUNICIPAL LIMITS OF AMARGARH, BETWEEN KM STONE NO. 14 TO 16 ON NABHA MALERKOTLA ROAD	MALERKOTLA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
519	VILLAGE HIMATPURA, TEHSIL ABOHAR	FAZILKA	Rural	187	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
520	VILLAGE PATTISADIQ, ON PATTISADIQ TO CHAMARKHERA ROAD, TEHSIL- ABOHAR	FAZILKA	Rural	384	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
521	VILLAGE - SHERGARH, ON DALIYANWALI ROAD, TEHSIL-ABOHAR	FAZILKA	Rural	384	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
522	VILLAGE SHEREWALA, BLOCK-ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	384	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

523	VILLAGE - SHERGARH, ON SHERGARH TO BHANGERKHERA ROAD, TEHSIL-ABOHAR	FAZILKA	Rural	384	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
524	WITHIN 9KMS FROM IOC RO SHAM LAL JINDAL & SONS TOWARDS MANSA, ON MANSA ROAD	MANSA	Rural	300	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
525	VILLAGE WARING KHERA, TEHSIL MALOUT	SRI MUKTSAR SAHIB	Rural	315	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
526	ON RIGHT HAND SIDE FROM JHAJJ CHOWK TO KALMA MORH	RUPNAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
527	ANANDPUR SAHIB TO JHAJJ-CHOWK ROAD	RUPNAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
528	FROM KOHARA CHOWK TOWARDS SAHNEWAL ON KOHARA SAHNEWAL ROAD, WITHIN 3 KM OUTSIDE MUNICPAL LIMIT OF LUDHIANA	LUDHIANA	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
529	VILLAGE GARHI TARKHANA ON NEELON KANAL ROAD , TEHSIL SAMRALA	LUDHIANA	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
530	WETBEEN KM 1 TO 3 FROM GT ROAD TO VILL. JASPALON	LUDHIANA	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
531	VILLAGE BAGRIAN,TEHSIL FATEHGARH SAHIB	FATEHGARH SAHIB	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
532	ON LEFT HAND SIDE FROM HUSSAINPUR TO SUNNY ENCLAVE ON PR7, BLOCK AND TEHSIL KHARAR	SAS NAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
533	VILLAGE TALWANDI CHAUDHRIAN SUB TEHSIL TALWANDI CHAUDHRIAN DISTRICT KAPURTHALA (OUTSIDE MUNICIPAL LIMIT) (ON LEFT HAND SIDE WHILE GOING FROM TALWANDI CHAUDHRIAN TO SULTANPUR LODHI)	KAPURTHALA	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
534	VILLAGE ACHHARKI, TEHSIL- ABOHAR	FAZILKA	Rural	384	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
535	VILLAGE VARYAMKHERA, ON VARYAMKHERA TO HAKMABAD ROAD, TEHSIL-ABOHAR	FAZILKA	Rural	384	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3
536	VILLAGE NAHRAN , TEHSIL SARDULGARH	MANSA	Rural	330	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
537	VILLAGE JANDWALA HANWANTA, TEHSIL ABOHAR	FAZILKA	Rural	222	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
538	VILLAGE BAZIDPUR BHOMA, TEHSIL-ABOHAR	FAZILKA	Rural	187	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
539	VILLAGE-JHURAR KHERA, TEHSIL ABOHAR	FAZILKA	Rural	384	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3
540	VILLAGE RAJRANA , TEHSIL SARDULGARH	MANSA	Rural	330	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
541	VILLAGE NARAINPURA, TEHSIL- ABOHAR	FAZILKA	Rural	187	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
542	ON HARRAIPUR- NATHANA ROAD, BETWEEN HARRAIPUR TEENKONI AND KHEMUNANA ROAD JUNCTION	BATHINDA	Rural	150	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
543	VILLAGE GUMJAL, ON VILLAGE PANNI WALA MAHLA TO VILLAGE 1D CHHOTI(RAJASTHAN) ROAD, TEHSIL ABOHAR	FAZILKA	Rural	384	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3
544	ON GONIANA - JAITO ROAD, FROM GONIANA MANDI TOWARDS JAITO WITHIN BATHINDA DISTRICT, BOTH SIDES	BATHINDA	Rural	150	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
545	ON MALOUT-FAZILKA ROAD, WITHIN ONE KM FROM PANNIWALA ROUND ABOUT (ON EITHER SIDE)	SRI MUKTSAR SAHIB	Rural	170	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

546	VILLAGE SHEHTIRWALA, ON SHEHTIRWALA TO DANEWALA ROAD, TEHSIL FAZILKA	FAZILKA	Rural	123	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3
547	WITHIN 2KMS OF SBI STATE BRANH CHANNU, TOWARDS LAMBI ON GIDDERBAHA TO LAMBI ROAD	SRI MUKTSAR SAHIB	Rural	150	OPEN CC 1	DC	30	35	1050	16	35	Draw of Lots	5	4
548	VILLAGE MALUKA, TEHSIL RAMPURA PHUL	BATHINDA	Rural	160	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
549	WITHIN 2KMS OF MAHARAJA RANJIT SINGH STADIUM, MIDDA TOWARDS FAZILKA ON MALOUT-FAZILKA ROAD	SRI MUKTSAR SAHIB	Rural	130	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
550	VILLAGE KANDUKHERA, TEHSIL MALOUT	SRI MUKTSAR SAHIB	Rural	540	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3
551	VILLAGE SANGHA , TEHSIL SARDULGARH	MANSA	Rural	530	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
552	VILLAGE MANKHERA , TEHSIL SARDULGARH	MANSA	Rural	430	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
553	WITHIN 3 KMS FROM VILLAGE TUNGAWALI (CANAL) TOWARDS KOTSHAMIR ON TUNGAWALI-KOTSHAMIR ROAD	BATHINDA	Rural	68	sc	CFS	30	35	1050	0	0	Draw of Lots	0	2
554	IN BETWEEN KURALI TO MORINDA ON KURALI MORINDA ROAD	RUPNAGAR	Rural	100	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
555	VILLAGE JARROUT, TEHSIL-DERABASSI, DISTRICT-SAS NAGAR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
556	ON LEFT HAND SIDE, SOHANA TO MEDPARK HOSPITAL ON AIRPORT ROAD, TEHSIL KHARAR	SAS NAGAR	Rural	100	OPEN CC 2	DC	30	35	1050	16	35	Draw of Lots	5	4
557	VILLAGE RAINSRA ON NURPUR BEDI TO GARSHANKAR ROAD	RUPNAGAR	Rural	100	OBC CC 1	DC	30	35	1050	16	35	Draw of Lots	5	3
558	ON RIGHT HAND SIDE, SOHANA TO MEDPARK HOSPITAL ON AIRPORT ROAD, TEHSIL KHARAR	SAS NAGAR	Rural	100	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
559	VILLAGE KHIZRABAD ON KHERA TO KHIZRABAD ROAD, DISTRICT: SAS NAGAR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
560	SEC 87-97 DIVIDING ROAD, FALLING IN SECTOR 97, MOHALI	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
561	IN BETWEEN SIDHWANBET TO BHUNDRI, ON SIDHWANBET BHUNDRI ROAD	LUDHIANA	Rural	100	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
562	ON LEFT HAND SIDE FROM MULLANPUR NEW CHANDIGARH TO HUSSAINPUR ON PR 7, BLOCK AND TEHSIL KHARAR	SAS NAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
563	VILLAGE JASTANA KALAN, BLOCK DERABASSI, TEHSIL DERABASSI	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
564	ON RIGHT HAND SIDE FROM AIRPORT LIGHTS AT NH-7 TO NH 152 (PR 7) - OUTSIDE MUNICIPAL LIMITS OF ZIRAKPUR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
565	WITHIN 3 KMS FROM PHULLANWAL CHOWK TOWARDS RAIKOT, ON PAKHOWAL ROAD, LUDHIANA OUTSIDE MUNICIPAL LIMIT	LUDHIANA	Rural	100	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
566	VILLAGE BEHRA, TEHSIL-DERABASSI, DISTRICT- SAS NAGAR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
567	ON LEFT HAND SIDE, MEDPARK HOSPITAL TO KHARAR ON AIRPORT ROAD, TEHSIL KHARAR	SAS NAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
568	VILLAGE BASOULI, BLOCK DERABASSI, TEHSIL DERABASSI	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
569	VILLAGE DHANANSHU ON CYCLE VALLEY ROAD, TEHSIL LUDHIANA EAST, DISTRICT LUDHIANA	LUDHIANA	Rural	100	OBC	DC	30	35	1050	16	35	Draw of Lots	5	3

570	IN BETWEEN HAMBRAN ROAD (ALONG WITH SIDHWAN CANAL) CONNECTING TO JHAMAT BRIDGE ROAD	LUDHIANA	Rural	100	OPEN CC 1	DC	30	35	1050	16	35	Draw of Lots	5	4
571	SANTEMAJRA, SECTOR 155, TEHSIL KHARAR	SAS NAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
572	IN BETWEEN VILLAGE TIRA & VILL KANSALA ON PR 4 ROAD, DISTRICT: SAS NAGAR	SAS NAGAR	Rural	100	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
573	ON LEFT HAND SIDE FROM SUNNY ENCLAVE TO HUSSAINPUR ON PR 7, BLOCK AND TEHSIL KHARAR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
574	VILLAGE BHAGO MAJRA, TEHSIL KHARAR	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
575	ON RIGHT HAND SIDE OF AIRPORT CHOWK TO INTERSECTION OF AEROCITY ROAD AND NH 152	SAS NAGAR	Rural	200	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
576	VILLAGE RANAI MAJRA ON KHARAR TO NEW CHANDIGARH ROAD, BLOCK & TEHSIL KHARAR	SAS NAGAR	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
577	VILLAGE GIDDARPUR, TEHSIL SAS NAGAR	SAS NAGAR	Rural	100	OPEN	DC	35	45	1575	16	35	Draw of Lots	5	4
578	ON LEFT HAND SIDE OF AIRPORT CHOWK TO INTERSECTION OF AEROCITY ROAD AND NH 152	SAS NAGAR	Rural	100	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
579	ON LEFT HAND SIDE FROM HUSSAINPUR TO MULLANPUR NEW CHANDIGARH ON PR7, BLOCK AND TEHSIL KHARAR	SAS NAGAR	Rural	100	ОВС	DC	30	35	1050	16	35	Draw of Lots	5	3
580	ON CHITTI ROAD, BETWEEN NH703 AND VILLAGE RAMPUR LALIAN	JALANDHAR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
581	VILLAGE CHAMARU, TEHSIL RAJPURA ON ROAD CONNECTING VILLAGE CHAMARU TO NH-44	PATIALA	Rural	46	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
582	VILLAGE BIR AMAMGARH, TEHSIL MALERKOTLA,	MALERKOTLA	Rural	46	OPEN	DC	30	35	1050	16	35	Draw of Lots	5	4
583	VILLAGE NANGAL BUTTAR TEHSIL BATALA BLOCK BATALA DISTRICT GURDASPUR	GURDASPUR	Rural	46	OBC PH	DC	30	35	1050	16	35	Draw of Lots	5	3
584	BIBIPUR TO BADALI ALA SINGH ON BADALI ALA SINGH - HANSALI - NH 1 RD	FATEHGARH SAHIB	Rural	100	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.iocl.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

Type of RO	Type of Site	Category	Applicatio n fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **15** years and renewable every **01** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Address	Contact Number	Districts
DIVISIONAL RETAIL SALES HEAD, CHANDIGARH DIVISIONAL OFFICE, INDIAN OIL CORPORATION	0172-2794204	FATEHGARH SAHIB, LUDHIANA,
LIMITED (MD),SC0 35-36, SECTOR-7C, MADHYA MARG, CHANDIGARH, PIN CODE-160019		RUPNAGAR, SAS NAGAR
DIVISIONAL RETAIL SALES HEAD, INDIAN OIL CORPORATION LIMITED (MD), JALANDHAR DIVISIONAL	0181-2421948	HOSHIARPUR, JALANDHAR, KAPURTHALA,
OFFICE, SUCHI PIND, JALANDHAR, PUNJAB - 144009		SHAHID BHAGAT SINGH NAGAR
DIVISIONAL RETAIL SALES HEAD, INDIAN OIL CORPORATION LIMITED (MD), BATHINDA DIVISIONAL	0164-2430055	BATHINDA, FARIDKOT, FEROZPUR,
OFFICE, BATHINDA MARKETING TERMINAL, PHOOS MANDI, MANSA ROAD, BATHINDA 151001		MANSA, SRI MUKTAR SAHIB, FAZILKA
DIVISIONAL RETAIL SALES HEAD, INDIAN OIL CORPORATION LIMITED, AMRITSAR DIVISIONAL	0183-2502385,	AMRITSAR, GURDASPUR, TARN TARAN,
OFFICE, 2ND FLOOR, SCO 89, DISTRICT SHOPPING CENTRE, B-BLOCK, RANJIT AVENUE, AMRITSAR	2508876	PATHANKOT
143001		
DIVISIONAL RETAIL SALES HEAD, INDIAN OIL CORPORATION LIMITED (MD), SANGRUR DIVISIONAL	01672-296140	MOGA, PATIALA, SANGRUR, BARNALA,
OFFICE, SANGRUR MARKETING TERMINAL, JIND ROAD, SANGRUR 148001		MALERKOTLA